GMAT语法
笔记区


SENTENCE CORRECTION TEST SECTION 1
30 Minutes　25 Questions

1. Researchers at Cornell University have demonstrated that homing pigeons can sense changes in the earth’s magnetic field, see light waves that people cannot see, detect low-frequency sounds from miles away, sense changes in air pressure, and can identify familiar odors.
(A) sense changes in air pressure, and can identify familiar odors

(B) can sense changes in air pressure, and can identify familiar odors

(C) sense changes in air pressure, and identify familiar odors

(D) air pressure changes can be sensed, and familiar odors identified

(E) air pressure changes are sensed, and familiar odors identified

2. In ancient times, Nubia was the principal corridor where there were cultural influences transmitted between Black Africa and the Mediterranean basin.

(A) where there were cultural influences transmitted

(B) through which cultural influences were transmitted

(C) where there was a transmission of cultural influences

(D) for the transmitting of cultural influences 

(E) which was transmitting cultural influences

3. It is a special feature of cell aggregation in the developing nervous system that in most regions of the brain the cells not only adhere to one another and also adopt some preferential orientation.

(A) to one another and also adopt

(B) one to the other, and also they adopt 

(C) one to the other, but also adopting

(D) to one another but also adopt 

(E) to each other, also adopting

4. Among the reasons for the decline of New England agriculture in the last three decades were the high cost of land, the pressure of housing and commercial development, and basing a marketing and distribution system on importing produce from Florida and California.

(A) basing a marketing and distribution system on importing produce from Florida and California

(B) basing a marketing and distribution system on the imported produce of Florida and California



(C) basing a system of marketing and distribution on the import of produce from Florida and California

(D) a marketing and distribution system based on importing produce from Florida and California

(E) a marketing and distribution system importing produce from Florida and California as its base

5. Like Byron at Missolonghi, Jack London was slowly killed by the mistakes of the medical men who treated him.

(A) Like Byron

(B) Like Byron’s death

(C) Just as Byron died

(D) Similar to Byron

(E) As did Byron

6. One of every two new businesses fail within two years.

(A) fail

(B) fails

(C) should fail

(D) may have failed

(E) has failed

7. Even today, a century after Pasteur developed the first vaccine, rabies almost always kills its victims unless inoculated in the earliest stages of the disease.

(A) its victims unless inoculated

(B) its victims unless they are inoculated

(C) its victims unless inoculation is done

(D) the victims unless there is an inoculation

(E) the victims unless inoculated

8. In a period of time when women typically have had a narrow range of choices, Mary Baker Eddy became a distinguished writer and the founder, architect, and builder of a growing church.

(A) In a period of time when women typically have

(B) During a time in which typically women have

(C) Typically, during a time when women 

(D) At a time when women typically

(E) Typically in a time in which women

9. As the price of gasoline rises, which makes substituting alcohol distilled from cereal grain attractive, the prices of bread and livestock feed are sure to increase.

(A) which makes substituting alcohol distilled from cereal grain attractive

(B) which makes substituting the distillation of alcohol 



from cereal grain attractive

(C) which makes distilling alcohol from cereal grain an attractive substitute

(D) making an attractive substitution of alcohol distilled from cereal grain

(E) making alcohol distilled from cereal grain an attractive substitute

10. Climatic shifts are so gradual as to be indistinguishable at first from ordinary fluctuations in the weather.

(A) so gradual as to be indistinguishable

(B) so gradual they can be indistinguishable 

(C) so gradual that they are unable to be distinguished

(D) gradual enough not to be distinguishable

(E) gradual enough so that one cannot distinguish them

11. Although the lesser cornstalk borer is widely distributed, control of them is necessary only in the South.

(A) the lesser cornstalk borer is widely distributed, control of them is 

(B) widely distributed, measures to control the lesser cornstalk borer are

(C) widely distributed, lesser cornstalk borer control is

(D) the lesser cornstalk borer is widely distributed, measures to control it are

(E) it is widely distributed, control of the lesser cornstalk borer is

12. Traveling the back roads of Hungary, in 1905 Béla Bartók and Zoltán Kodály began their pioneering work in ethnomusicology, and they were armed only with an Edison phonograph and insatiable curiosity.

(A) Traveling the back roads of Hungary, in 1905 Bela Bartok and Zoltan Kodaly began their pioneering work in ethnomusicology, and they were armed only

(B) In 1905, Bela Bartok and Zoltan Kodaly, traveling the back roads of Hungary, began their pioneering work in ethnomusicology, and they were only armed

(C) In 1905 Bela Bartok and Zoltan Kodaly began their pioneering work in ethnomusicology, traveling the back roads of Hungary armed only

(D) Having traveled the back roads of Hungary, in 1905 Bela Bartok and Zoltan Kodaly began their pioneering work in ethnomusicology; they were only armed

(E) Bela Bartok and Zoltan Kodaly, in 1905 began their pioneering work in ethnomusicology, traveling the back roads of Hungary, arming themselves only



13. It is as difficult to prevent crimes against property as those that are against a person.

 (A) those that are against a 

(B) those against a 

(C) it is against a 

(D) preventing those against a 

(E) it is to prevent those against a 

14. Unlike the acid smoke of cigarettes, pipe tobacco, cured by age-old methods, yields an alkaline smoke too irritating to be drawn into the lungs.

(A)Unlike the acid smoke of cigarettes, pipe tobacco, cured by age-old methods, yields an alkaline smoke

(B) Unlike the acid smoke of cigarettes, pipe tobacco is cured by age-old methods, yielding an alkaline smoke

(C) Unlike cigarette tobacco, which yields an acid smoke, pipe tobacco, cured by age-old methods, yields an alkaline smoke

(D) Differing from cigarettes’ acid smoke, pipe tobacco’s alkaline smoke, cured by age-old methods, is

(E) The alkaline smoke of pipe tobacco differs from cigarettes’ acid smoke in that it is cured by age-old methods and is

15. Joplin’s faith in his opera “Tremonisha” was unshakable; in 1911 he published the score at his own expense and decided on staging it himself.

(A) on staging it himself

(B) that he himself would do the staging 

(C) to do the staging of the work by himself

(D) that he himself would stage it 

(E) to stage the work himself

16. Los Angeles has a higher number of family dwellings per capita than any large city.
(A) a higher number of family dwellings per capita than any large city

(B)higher numbers of family dwellings per capita than any other large city

(C) a higher number of family dwellings per capita than does any other large city

(D) higher numbers of family dwellings per capita than do other large cities

(E) a high per capita number of family dwellings, more than does any other large city



17. During the nineteenth century Emily Eden and Fanny Parks journeyed throughout India, sketching and keeping journals forming the basis of news reports about the princely states where they had visited.

(A) forming the basis of news reports about the princely states where they had

(B) that were forming the basis of news reports about the princely states

(C) to form the basis of news reports about the princely states which they have

(D) which had formed the basis of news reports about the princely states where they had 

(E) that formed the basis of news reports about the princely states they

18. School integration plans that involve busing between suburban and central-city areas have contributed, according to a recent study, to significant increases in housing integration, which, in turn, reduces any future need for busing.

(A) significant increases in housing integration, which, in turn, reduces

(B) significant integration increases in housing, which, in turn, reduces

(C) increase housing integration significantly, which, in turn, reduces

(D) increase housing integration significantly, in turn reducing

(E) significantly increase housing integration, which, in turn, reduce

19. The commission acknowledged that no amount of money or staff members can ensure the safety of people who live in the vicinity of a nuclear plant, but it approved the installation because it believed that all reasonable precautions had been taken.

(A) no amount of money or staff members

(B) neither vast amounts of money nor staff members

(C) neither vast amounts of money nor numbers of staff members

(D) neither vast amounts of money nor a large staff

(E) no matter how large the staff or how vast the amount of money



20. Sartre believed each individual is responsible to choose one course of action over another one,  that it is the choice that gives value to the act, and that nothing that is not acted upon has value.

(A) each individual is responsible to choose one course of action over another one 

(B)that each individual is responsible for choosing one course of action over another

(C) that each individual is responsible, choosing one course of action over another

(D) that each individual is responsible to choose one course of action over the other 

(E) each individual is responsible for choosing one course of action over other ones

21. While the owner of a condominium apartment has free and clear title to the dwelling, owners of cooperative apartments have shares in a corporation that owns a building and leases apartments to them.
(A) While the owner of a condominium apartment has free and clear title to the dwelling,

(B) The owner of a condominium apartment has free and clear title to the dwelling, but

(C) Whereas owners of condominium apartments have free and clear title to their dwellings,

(D) An owner of a condominium apartment has free and clear title to the dwelling, whereas

(E) Condominium apartment owners have a title to their dwelling that is free and clear, while

22. Although films about the American West depict coyotes as solitary animals howling mournfully on the tops of distant hills, in reality these gregarious creatures live in stable groups that occupy the same territory for long periods.

(A) films about the American West depict coyotes as solitary animals howling mournfully on the tops of distant hills
(B) in films about the American West coyotes are depicted to be solitary animals that howl mournfully on the tops of distant hills

(C) coyotes are depicted as solitary animals howling mournfully on the tops of distant hills in films about the American West 

(D) films about the American West depict coyotes as if they were solitary, mournfully howling animals on the tops of distant hills.

(E) films about the American West depict coyotes to be solitary and mournfully howling animals on the tops of distant hills



23. In 1980 the United States exported twice as much of its national output of goods as they had in 1970.

(A) twice as much of its national output of goods as they had

(B) double the amount of their national output of goods as they did 

(C) twice as much of its national output of goods as it did

(D) double the amount of its national output of goods as it has

(E) twice as much of their national output of goods as they had

24. Even though its per capita food supply hardly increased during two decades, stringent rationing and planned distribution have allowed the People’s Republic of China to ensure nutritional levels of 2,000 calories per person per day for its population.

(A) Even though its per capita food supply hardly increased during

(B) Even though its per capita food supply has hardly increased in

(C) Despite its per capita food supply hardly increasing over

(D) Despite there being hardly any increase in its per capita food supply during

(E) Although there is hardly any increase in per capita food supply for

25. Few people realize that the chance of accidental injury or death may be as great or greater in the “safety” of their own homes than in a plane or on the road.

(A) may be as great or greater in the “safety” of their own homes than

(B) is at least as great or greater in the “safety” of their own homes than

(C) might be so great or greater in the “safety” of their own home as

(D) may be at least as great in the “safety” of their own homes as

(E) can be at least so great in the “safety” of their own home as



SENTENCE CORRECTION TEST SECTION 2

30 Minutes　25 Questions

1. A fire in an enclosed space burns with the aid of reflected radiation that preheats the fuel, making ignition much easier and flames spreading more quickly.

(A) flames spreading

(B) flame spreads

(C) flames are caused to spread

(D) causing flames to spread

(E) causing spreading of the flames

2. Roy Wilkins was among the last of a generation of civil rights activists who led the nation through decades of change so profound many young Americans are not able to imagine, even less to remember, what segregation was like.

(A) so profound many young Americans are not able to imagine, even less to remember 

(B) so profound that many young Americans cannot imagine, much less remember

(C) so profound many young Americans cannot imagine nor even less remember

(D) of such profundity many young Americans cannot imagine, even less can they remember

(E) of such profundity that many young Americans are not able to imagine, much less to remember

3. The residents’ opposition to the spraying program has rekindled an old debate among those who oppose the use of pesticides and those who feel that the pesticides are necessary to save the trees.

(A) among those who oppose the use of pesticides and

(B) between those who oppose the use of pesticides and

(C) among those opposing the use of pesticides with

(D) between those who oppose the use of pesticides with

(E) among those opposing the use of pesticides and

4. In cold-water habitats, certain invertebrates and fish convert starches into complex carbohydrates called glycerols, in effect manufacturing its own antifreeze.

(A) in effect manufacturing its own antifreeze 

(B) effectively manufacturing antifreeze of its own

(C) in effect manufacturing their own antifreeze.

(D) so that they manufacture their own antifreeze

(E) thus the manufacture of its own antifreeze



5. Slips of the tongue do not necessarily reveal concealed beliefs or intentions but rather are the result from the competition between various processing mechanisms in the brain.

(A) but rather are the result from 

(B) and instead are the result from

(C) being rather the result of 

(D) and rather result from

(E) but rather result from

6. The new contract forbids a strike by the transportation union.

(A) forbids a strike by the transportation union 

(B) forbids the transportation union from striking

(C) forbids that there be a strike by the transportation union

(D) will forbid the transportation union from striking

(E) will forbid that the transportation union strikes

7. Monitoring heart patients’ exercise, as well as athletes exercising, is now done by small transmitters broadcasting physiological measurements to nearby recording machines.

(A) Monitoring heart patients' exercise, as well as athletes exercising, is now done by small transmitters broadcasting physiological measurements to nearby recording machines.

(B) Monitoring the exercise of heart patients, as well as athletes exercising, is now done by small transmitters broadcasting physiological measurements to nearby recording machines

(C) Small transmitters broadcasting physiological measurements to nearby recording machines are now used to monitor the exercise of both heart patients and athletes.

(D) Broadcasting physiological measurements to nearby recording machines, small transmitters are now used to monitor heart patients’ exercise, as well as athletes exercising.

(E) Both athletes exercising and heart patients’ exercise are now monitored by small transmitters broadcasting physiological measurements to nearby recording machines.



8. The commission has directed advertisers to restrict the use of the word “natural” to foods that do not contain color or flavor additives, chemical preservatives, or nothing that has been synthesized.

(A) or nothing that has been 

(B) nor anything that was 

(C) and nothing that is

(D) or anything that has been 

(E) and anything

9. Bringing the Ford Motor Company back from the verge of bankruptcy shortly after the Second World War was a special governmentally sanctioned price increase during a period of wage and price controls.
(A) Bringing the Ford Motor Company back from the verge of bankruptcy shortly after the Second World War was a special governmentally sanctioned price increase during a period of wage and price controls.

(B) What brought the Ford Motor Company back from the verge of bankruptcy shortly after the Second World War was a special price increase that the government sanctioned during a period of wage and price controls.

(C) That which brought the ford Motor Company back from the verge of bankruptcy shortly after the Second World War was a special governmentally sanctioned price increase during a period of wage and price controls.

(D) What has brought the Ford Motor Company back from the verge of bankruptcy shortly after the Second World War was a special price increase that the government sanctioned during a period of wages and price controls.

(E) To bring the Ford Motor Company back from the verge of bankruptcy shortly after the Second World War, there was a special price increase during a period of wages and price controls that government sanctioned.

10, Like Haydn, Schubert wrote a great deal for the stage, but he is remembered principally for his chamber and concert-hall music.

(A) Like Haydn, Schubert

(B) Like Haydn, Schubert also

(C) As has Haydn, Schubert

(D) As did Haydn, Schubert also

(E) As Haydn did, Schubert also



11. Charlotte Parkins Gilman, a late nineteenth-century feminist, called for urban apartment houses including child-care facilities and clustered suburban houses including communal eating and social facilities.

(A) including child-care facilities and clustered suburban houses including communal eating and social facilities

(B) that included child-care facilities, and for clustered suburban houses to include communal eating and social facilities

(C) with child-care facilities included and for clustered suburban houses to include communal eating and social facilities

(D) that included child-care facilities and for clustered suburban houses with communal eating and social facilities 

(E) to include child-care facilities and for clustered suburban houses with communal eating and social facilities included

12. The odds are about 4 to 1 against surviving a takeover offer, and many business consultants therefore advise that a company’s first line of defense in eluding offers like these be to even refuse to take calls from likely corporate raiders.

(A) that a company’s first line of defense in eluding offers like these be to even refuse 

(B) that a company’s first line of defense in eluding such offers be to refuse even 

(C) a company defending itself against offers of this kind that, as a first line of defense, they should even refuse

(D) companies which are defending themselves against such an offer that, as a first line of defense, they should even refuse

(E) that the first line of defense for a company who is eluding offers like these is the refusal even.



13. Japan received huge sums of capital from the United States after the Second World War, using it to help build a modern industrial system.

(A) Japan received huge sums of capital from the United States after the Second World War, using it to help build

(B) Japan received huge sums of capital from the United States after the Second World War and used it to help in building

(C)Japan used the huge sums of capital it received from the United States after the Second World War to help build

(D) Japan’s huge sums of capital received from the United States after the Second World War were used to help it in building

(E) Receiving huge sums of capital from the United States after the Second World War, Japan used it to help build

14. Although one link in the chain was demonstrated to be weak, but not sufficiently so to require the recall of the automobile.

(A) demonstrated to be weak, but not sufficiently so to require

(B) demonstrated as weak, but it was not sufficiently so that it required 

(C) demonstrably weak, but not sufficiently so to require

(D) demonstrably weak, it was not so weak as to require

(E) demonstrably weak, it was not weak enough that it required

15. Although the Supreme Court ruled as long ago as 1880 that Blacks could not be excluded outright from jury service, nearly a century of case-by-case adjudication has been necessary to develop and enforce the principle that all juries must be drawn  from “a fair cross section of the community.”

(A) has been necessary to develop and enforce the 

   principle that all juries must be

(B) was necessary for developing and enforcing  the principle of all juries being

(C) was to be necessary in developing and enforcing the principle of all juries to be 

(D) is necessary to develop and enforce the principle that all juries must be 

(E) will be necessary for developing and enforcing the principle of all juries being



16. The modernization program for the steel mill will cost approximately 51 million dollars, which it is hoped can be completed in the late 1980’s.

(A) The modernization program for the steel mill will cost approximately 51 million dollars, which it is hoped can be completed in the late 1980’s.

(B) The modernization program for the steel mill, hopefully completed in the late 1980’s, will cost approximately 51 million dollars. 

(C) Modernizing the steel mill, hopefully to be completed in the late 1980’s, will cost approximately 51 million dollars.

(D) The program for modernizing the steel mill, which can, it is hoped, be completed in the late 1980’s and cost approximately 51 million dollars.

(E) Modernizing the steel mill, a program that can, it is hoped, be completed in the late 1980’s, will cost approximately 51 million dollars.

17. Camus broke with Sartre in a bitter dispute over the nature of Stalinism.

(A) in a bitter dispute over

(B) over bitterly disputing

(C) after there was a bitter dispute over 

(D) after having bitterly disputed about 

(E) over a bitter dispute about

18. Nowhere in Prakta is the influence of modern European architecture more apparent than their government buildings.

(A) more apparent than their

(B) so apparent as their

(C) more apparent than in its

(D) so apparent than in their

(E) as apparent as it is in its

19. Federal legislation establishing a fund for the cleanup of sites damaged by toxic chemicals permits compensating state governments for damage to their natural resources but does not allow claims for injury to people.

(A) compensating state governments for damage to 

(B) compensating state governments for the damaging of

(C) giving state governments compensation for damaging 

(D) giving compensation to state governments for the damage of

(E) the giving of compensation to state governments for damaging



20. The lawyer for the defense charged that she suspected the police of having illegally taped her confidential conversations with her client and then used the information obtained to find evidence supporting their murder charges.

(A) used the information obtained to find evidence supporting

(B) used such information as they obtained to find evidence supporting

(C) used the information they had obtained to find evidence that would support

(D) of using the information they had obtained to find evidence that would support

(E) of using such information as they obtained to find evidence that would be supportive of 

21. According to surveys by the National Institute on Drug Abuse, about 20 percent of young adults used cocaine in 1979, doubling those reported in the 1977 survey.

(A) doubling those reported in the 1977 survey 

(B) to double the number the 1977 survey reported

(C) twice those the 1977 survey reported

(D) twice as much as those reported in the 1977 survey

(E) twice the number reported in the 1977 survey

22. Inflation has made many Americans reevaluate their assumptions about the future; they still expect to live better than their parents have, but not so well as they once thought they could.

(A) they still expect to live better than their parents have

(B) they still expect to live better than their parents did

(C) they still expect to live better than their parents had

(D) still expecting to live better than their parents had

(E) still expecting to live better than did their parents

23. Europeans have long known that eating quail sometimes makes the eater ill, but only recently has it been established that the illness is caused by a toxin present in the quail’s body only under certain conditions.

(A) Europeans have long known that eating quail sometimes makes

(B) Europeans have long known quail eating is sometimes able to make

(C) Eating quail has long been known to Europeans to sometimes make

(D) It has long been known to Europeans that quail eating will sometimes make

(E) It has long been known to Europeans that quail, when it is eaten, has sometimes made



24. The caterpillar of the geometrid moth strikes when special tactile hairs on its body are disturbed, after capturing its prey, holds the victim so that it cannot escape.

(A) strikes when special tactile hairs on its body are disturbed,

(B) striking when special tactile hairs on its body are disturbed, but

(C) which strikes when special tactile hairs on its body are disturbed,

(D) which, striking when special tactile hairs on its body are disturbed,

(E) strikes when special tactile hairs on its body are disturbed and,

25. In assessing the problems faced by rural migrant workers, the question of whether they are better off materially than the urban working poor is irrelevant.

(A) In assessing the problems faced by rural migrant workers, the question of whether they are better off materially than the urban working poor is irrelevant.

(B) The question of whether the rural migrant worker is better off materially than the urban working poor is irrelevant in assessing the problems that they face.

(C) A question that is irrelevant in assessing the problems that rural migrant workers face is whether they are better off materially than the urban working poor.

(D) In an assessment of the problems faced by rural migrant workers, the question of whether they are better off materially than the urban working poor is irrelevant.

(E) The question of whether the rural migrant worker is better off materially than the urban working poor is irrelevant in an assessment of the problems that they face.



SENTENCE CORRECTION TEST SECTION 3
30 Minutes　25 Questions

1. The sale of government surplus machinery will begin at 9 a.m. and continue until the supply lasts. 

(A) will begin at 9 a.m. and continue until the supply lasts

(B) begins at 9 a.m., continuing until the supply lasts

(C) will begin at 9 a.m. and, until the supply lasts, will continue

(D) begins at 9 a.m. and, as long as the supply may last, it continues

(E) will begin at 9 a.m. and continue as long as the supply lasts

2. In England the well-dressed gentleman of the eighteenth century protected their clothing while having their wig powdered by poking their head through a device that resembled the stocks.

(A) gentleman of the eighteenth century protected their clothing while having their wig powdered by poking their head

(B) gentleman of the eighteenth century protected his clothing while having his wig powdered by poking his head 

(C) gentleman of the eighteenth century protected their clothing while having their wigs powdered by poking their heads

(D) gentlemen of the eighteenth century protected his clothing while having his wig powdered by poking his head

(E) gentlemen of the eighteenth century protected their clothing while having his wig powdered by poking his head

3. Reared apart from each other, a recent United States study showed striking similarities in identical twins, including many idiosyncrasies of behavior.

(A) Reared apart from each other, a recent United States study showed striking similarities in identical twins, including many idiosyncrasies of behavior.

(B) Reared apart from each other, striking similarities between identical twins that include many idiosyncrasies of behavior were shown in a recent United States study.

(C) A recent United States study showed striking similarities in identical twins reared apart from each other that include many idiosyncrasies of behavior.



(D) According to a recent United States study, identical twins reared apart from each other showed striking similarities, including many idiosyncrasies of behavior.

(E) According to a recent United States study, identical twins showed striking similarities reared apart from each other, including many idiosyncrasies of behavior.

4. Developing nations in various parts of the world have amassed $700 billion in debts; at stake, should a significant number of these debts be repudiated, is the solvency of some of the world’s largest multinational banks.

(A) should a significant number of these debts be repudiated, is 

(B) should a significant number of these debts be repudiated, are

(C) should they repudiate a significant number of these debts, are

(D) if there is a repudiation of a significant number of these debts, would be

(E) if a significant number of these debts will be repudiated, is

5. South Korea has witnessed the world’s most dramatic growth of Christian congregations; church membership is expanding by 6.6 percent a year, fully two-thirds of the growth coming from conversions rather than the population increasing.

(A) coming from conversions rather than the population increasing 

(B) coming from conversions rather than increases in the population

(C) coming from conversions instead of the population’s increasing

(D) is from conversions instead of population increases

(E) is from conversions rather than increasing the population



6. There is ample evidence, derived from the lore of traditional folk medicine, that naturally occurring antibiotics are usually able to be modified to make them a more effective drug.

(A) are usually able to be modified to make them a more effective drug.

(B) are usually able to be modified to make them more effective drugs

(C) are usually able to be modified, which makes them more effective drugs

(D) can usually be modified to make them a more effective drug

(E) can usually be modified to make them more effective drugs

7. Many investors base their choice between bonds and stocks on comparing bond yields to the dividends available on common stocks.

(A) between bonds and stocks on comparing bond yields to

(B) among bonds and stocks on comparisons of bond yields to

(C) between bonds and stocks on comparisons of bond yields with

(D) among bonds and stocks on comparing bond yields and

(E) between bonds and stocks on comparing bond yields with

8. Some of the tenth-century stave churches of Norway are still standing, demonstrating that with sound design and maintenance, wooden buildings can last indefinitely. 
(A) standing, demonstrating that with sound design and maintenance, wooden buildings can last indefinitely

(B) standing, demonstrating how wooden buildings, when they have sound design and maintenance, can last indefinitely

(C) standing; they demonstrate if a wooden building has sound design and maintenance it can last indefinitely

(D) standing, and they demonstrate wooden buildings can last indefinitely when there is sound design and maintenance

(E) standing, and they demonstrate how a wooden building can last indefinitely when it has sound design and maintenance



9. In the United States, trade unions encountered far more intense opposition against their struggle for social legitimacy than the organized labor movements of most other democratic nations.

(A) against their struggle for social legitimacy than

(B) in their struggle for social legitimacy than did

(C) against their struggle for social legitimacy as

(D) in their struggle for social legitimacy as did

(E) when they struggled for social legitimacy than has 

10. For many people, household labor remains demanding even if able to afford household appliances their grandparents would find a miracle. 

(A) even if able to afford household appliances their grandparents would find a miracle

(B) despite being able to afford household appliances their grandparents would find a miracle

(C) even if they can afford household appliances their grandparents would have found miraculous

(D) although they could afford household appliances their grandparents would find miraculous 

(E) even if they are able to afford household appliances which would have been a miracle to their grandparents

11. In the most common procedure for harvesting forage crops such as alfalfa, as much as 20 percent of the leaf and small-stem material, which is the most nutritious of all the parts of the plant, shattered and fell to the ground.

(A) which is the most nutritious of all the parts of the plant, shattered and fell 

(B) the most nutritious of all parts of the plant, shatter and fall

(C) the parts of the plant which were most nutritious, will shatter and fall

(D) the most nutritious parts of the plant, shatters and falls.

(E) parts of the plant which are the most nutritious, have shattered and fallen



12. To ensure consistently high quality in its merchandise, the chain of retail stores became involved in every aspect of their suppliers’ operations, dictating not only the number of stitches and the width of the hem in every garment as well as the profit margins of those suppliers.

(A) their suppliers’ operations, dictating not only the number of stitches and the width of the hem in every garment as well as 

(B) its suppliers’ operations, dictating not only the number of stitches and the width of the hem in every garment as well as 

(C) their suppliers’ operations, dictating not only the number of stitches and the width of the hem in every garment but also 

(D) its suppliers’ operations, dictating not only the number of stitches and the width of the hem in every garment but also 

(E) their suppliers’ operations, dictating the number of stitches, the width of the hem in every garment, and 

13. The medieval scholar made almost no attempt to investigate the anatomy of plants, their mechanisms of growth, nor the ways where each was related to the other.

(A) nor the ways where each was related to the other 

(B) nor how each was related to some other 

(C) or the way where one is related to the next

(D) or the ways in which they are related to one another

(E) or the ways that each related to some other

14. Originally published in 1950, Some Tame Gazelle was Barbara Pym’s first novel, but it does not read like an apprentice work.
(A) does not read like an apprentice work 

(B) seems not to read as an apprentice work 

(C) does not seem to read as an apprentice work would 

(D) does not read like an apprentice work does 

(E) reads unlike an apprentice work



15. By installing special electric pumps, farmers’ houses could be heated by the warmth from cows’ milk, according to one agricultural engineer.

(A) farmers’ houses could be heated by the warmth from cows’ milk, according to one agricultural engineer.

(B) the warmth from cows’ milk could be used by farmers to heat their houses, according to one agricultural engineer

(C) one agricultural engineer reports that farmers could use the warmth from cows’ milk to heat their houses

(D) farmers, according to one agricultural engineer, could use the warmth from cows’ milk to heat their houses

(E) one agricultural engineer reports that farmers’ houses could be heated by the warmth from cows’ milk

16. In the traditional Japanese household, most clothing could be packed flatly, and so it was not necessary to have elaborate closet facilities.

(A) flatly, and so it was not necessary to have elaborate closet facilities

(B) flat, and so elaborate closet facilities were unnecessary

(C) flatly, and so there was no necessity for elaborate closet facilities 

(D) flat, there being no necessity for elaborate closet facilities

(E) flatly, as no elaborate closet facilities were necessary

17. The unskilled workers at the Allenby plant realized that their hourly rate of $4.11 to $4.75 was better than many nearby factory wages.

(A) many nearby factory wages

(B) many wages in nearby factories

(C) what are offered by many nearby factories 

(D) it is in many nearby factories

(E) that offered by many nearby factories

18. Since 1970 the number of Blacks elected to state and federal offices in the United States has multiplied nearly four times.

(A) has multiplied nearly four times

(B) has almost quadrupled

(C) has almost multiplied by four

(D) is almost four times as great

(E) is nearly fourfold what it was



19. India is country with at least fifty major regional languages, of whom fourteen have official recognition.
(A) of whom fourteen have official recognition 

(B) fourteen that have official recognition

(C) fourteen of which are officially recognized 

(D) fourteen that are officially recognized

(E) among whom fourteen have official recognition

20. Wind resistance created by opening windows while driving results in a fuel penalty as great or greater than is incurred by using air conditioning.
(A) as great or greater than is incurred by using air conditioning

(B) that is as great or greater than is incurred using air conditioning

(C) as great as or greater than that of using air conditioning
(D) at least as great as air conditioning’s 

(E) at least as great as that incurred by using air conditioning

21. At the time of the Mexican agrarian revolution, the most radical faction, that of Zapata and his followers, proposed a return to communal ownership of land, to what had been a pre-Columbian form of ownership respected by the Spaniards.

(A) land, to what had been a pre-Columbian form of ownership respected by the Spaniards

(B) land, a form of ownership of the pre-Columbians and respected by the Spaniards

(C) land, respected by the Spaniards and a pre-Columbian form of ownership

(D) land in which a pre-Columbian form of ownership was respected by the Spaniards 

(E) land that had been a pre-Columbian form of ownership respected by the Spaniards

22. Even though Bela Bartok's music has proved less popular than Igor Stravinsky’s and less influential than Arnold Schonberg’s, it is no less important.

(A) Stravinsky’s and less influential than Arnold Schonberg’s, it 

(B) Stravinsky’s and less influential than Arnold Schonberg’s, he

(C) Stravinsky’s is and less influential than Arnold Schonberg’s is, it

(D) Stravinsky and not as influential as Arnold Schonberg, he

(E) Stravinsky and not as influential as Arnold Schonberg, it



23. According to United States Air Force officials, a cannon shooting dead chickens at airplanes has proved helpful to demonstrate what kind of damage can result when jets fly into a flock of large birds.

(A) shooting dead chickens at airplanes has proved helpful to demonstrate

(B) shooting dead chickens at airplanes has proved itself helpful as a demonstration of

(C) shooting dead chickens at airplanes proves itself helpfull as demonstrating 

(D) that shoots dead chickens at airplanes proves itself helpful to demonstrate 

(E) that shoots dead chickens at airplanes has proved helpful in demonstrating

24. In his eagerness to find a city worthy of Priam, the German archaeologist Schliemann cut through Troy and uncovered a civilization a thousand years older as was the city Homer’s heroes knew.
(A) older as was the city Homer’s heroes knew

(B) more ancient than the city known to Homer’s heroes

(C) older than was the city known to Homer’s heroes

(D) more ancient of a city than Homer’s heroes knew

(E) older of a city than was the one known to Homer’s heroes

25. To speak habitually of the “truly needy” is gradually instilling the notion that many of those who are just called “needy” actually have adequate resources; such a conclusion is unwarranted.

(A) To speak habitually of the “truly needy” is gradually instilling the notion

(B) To speak habitually of the “truly needy” is instilling the notion gradually

(C) To speak habitually of the “truly needy” is gradually to instill the notion

(D) Speaking habitually of the “truly needy” is to instill the gradual notion

(E) Speaking habitually of the “truly needy” is instilling the gradual notion


SENTENCE CORRECTION TEST SECTION 4

30 Minutes　25 Questions

1. During the first one hundred fifty years of the exis​tence of this republic, no one expected the press was fair; newspapers were mostly shrill, scurrilous, and partisan.

(A) was

(B) to be

(C) of being

(D) should be

(E) had to be 

2. Most victims of infectious mononucleosis recover after a few weeks of listlessness, but an unlucky few may suffer for years.
(A) but an unlucky few may suffer

(B) and an unlucky few have suffered

(C) that an unlucky few might suffer

(D) that a few being unlucky may suffer

(E) but a few who, being unlucky, suffered

3. It was the loss of revenue from declines in tourism that in 1935 led the Saudi authorities’ granting a concession for oil exploration to the company that would later be known by the name of Aramco.

(A) authorities’ granting a concession for oil exploration to the company that would later be known by the name of

(B)authorities’ granting a concession for oil exploration to the company later to be known as named

(C) authorities granting a concession for oil exploration to the company that would later be known by the name of

(D) authorities to grant a concession for oil explo​ration to the company that later will be known as being

(E) authorities to grant a concession for oil exploration to the company later to be known as

4. Framed by traitorous colleagues, Alfred Dreyfus was imprisoned for twelve years before there was exoneration and his freedom.

(A) there was exoneration and his freedom

(B) he was to be exonerated with freedom

(C) being exonerated and freed

(D) exoneration and his freedom

(E) being freed, having been exonerated



5. By studying the primitive visual systems of single-cell aquatic organisms, biophysicists have discovered a striking similarity between algae and cows, a simi​larity that indicates the common evolutionary origin of plants and animals: both algae and cows produce a light-sensitive protein called rhodopsin.

(A) biophysicists have discovered a striking similarity between algae and cows

(B) a striking similarity between algae and cows has been discovered by biophysicists

(C) there is a striking similarity that biophysicists have discovered between algae and cows

(D) the discovery of a striking similarity between algae and cows was made by biophysicists

(E) algae and cows have a striking similarity that was discovered by biophysicists.

6. Because young children do not organize their attention or perceptions systematically, like adults, they may notice and remember details that their elders ignore.

(A) like adults

(B) unlike an adult

(C) as adults

(D) as adults do

(E) as an adult

7. As many as 300 of the 720 paintings attributed to Rembrandt may actually be the works of his students or other admirers.

(A) the 720 paintings attributed to Rembrandt may

(B) the 720 paintings attributed to be Rembrandt’s might

(C) the 720 paintings that were attributed to be by Rembrandt may

(D) the 720 Rembrandt paintings that were once attributed to him might

(E) Rembrandt’s paintings, although 720 were once attributed to him, may

8. Studies of the human “sleep-wake cycle” have practical relevance for matters ranging from duty assignments in nuclear submarines and air-traffic control towers to the staff of shifts in 24-hour factories.

(A) to the staff of

(B) to those who staff

(C) to the staffing of

(D) and staffing

(E) and the staff of



9. Many psychologists and sociologists now contend that the deliberate and even brutal aggression inte​gral to some forms of competitive athletics increase the likelihood of imitative violence that erupts among crowds of spectators dominated by young adult males.

(A) increase the likelihood of imitative violence that erupts

(B) increase the likelihood that there will be an eruption of imitative violence

(C) increase the likelihood of imitative violence erupting

(D) increases the likelihood for imitative violence to erupt

(E) increases the likelihood that imitative violence will erupt

10. More than five thousand years ago, Chinese scholars accurately described the flow of blood as a contin​uous circle controlled by the heart, but it went unnoticed in the West.

(A) but it went

(B) but it was

(C) although it was

(D) but the discovery went

(E) although the discovery was

11. Several studies have found that the coronary patients who exercise most actively have half or less than half the chance of dying of a heart attack as those who are sedentary.
(A) have half or less than half the chance of dying of a heart attack as those who are sedentary

(B) have half the chance, or less, of dying of a heart attack than those who are sedentary do 

(C) have half the chance that they will die of a heart attack, or less, than those who are sedentary do

(D) are at least fifty percent less likely to die of a heart attack as those who are sedentary

(E) are at least fifty percent less likely than those who are sedentary to die of a heart attack 

12. Most nations regard their airspace as extending  upward as high as an aircraft can fly; no specific altitude, however, has been officially recognized as a boundary.

(A) as extending

(B) as the extent

(C) to be an extent

(D) to be an extension

(E) to extend



13. According to scientists at the University of California, the pattern of changes that have occurred in human DNA over the millennia indicate the possibility that everyone alive today might be descended from a single female ancestor who lived in Africa sometime between 140,000 and 280,000 years ago.

(A) indicate the possibility that everyone alive today might be descended from a single female ancestor who

(B) indicate that everyone alive today might possibly be a descendant of a single female ancestor who had

(C) may indicate that everyone alive today has descended from a single female ancestor who had

(D) indicates that everyone alive today may be a descendant of a single female ancestor who 

(E) indicates that everyone alive today might be a descendant from a single female ancestor who

14. Several senior officials spoke to the press on condi​tion that they not be named in the story.

(A) that they not be named 

(B) that their names will not be used

(C) that their names are not used

(D) of not being named

(E) they will not be named

15. According to his own account, Frederic-​Auguste  Bartholdi, the sculptor of the Statue of Liberty, modeled the face of the statue like his mother’s and the body like his wife’s.

(A) modeled the face of the statue like his mother’s and the body like his wife’s 

(B) modeled the face of the statue after that of his mother and the body after that of his wife 

(C) modeled the face of the statue like his mother and the body like his wife

(D) made the face of the statue after his mother and the body after his wife

(E) made the face of the statue look like his mother and the body look like his wife

16. One of Ronald Reagan’s first acts as President was to rescind President Carter’s directive that any chemical banned on medical grounds in the United States be prohibited from sale to other countries.


(A) that any chemical banned on medical grounds in the United States be prohibited from sale to other countries
(B) that any chemical be prohibited from sale to other countries that was banned on medical grounds in the United States

(C) prohibiting the sale to other countries of any chemical banned on medical grounds in the United States
(D) prohibiting that any chemical banned on medical grounds in the United States is sold to other countries
(E) that any chemical banned in the United States on medical grounds is prohibited from being sold to other countries.

17. Although just inside the orbit of Jupiter, amateur astronomers with good telescopes should be able to see the comet within the next few weeks.

(A) Although just inside the orbit of 

(B) Although it is just inside the orbit of

(C) Just inside the orbit of

(D) Orbiting just inside

(E) Having orbited just inside

18. Under Napoleon the French were not able to orga​nize an adequate supply system, and it was a major cause of the failure of their invasion of Russia.

(A) Under Napoleon the French were not able to organize an adequate supply system, and it

(B) The French being unable to organize an adequate supply system under Napoleon

(C) For the French under Napoleon, to be unable to organize an adequate supply system

(D)The inability of the French under Napoleon to organize an adequate supply system

(E)  The French inability under Napoleon of organizing an adequate supply system.

19. To help preserve ancient Egyptian monuments threatened by high water tables, a Swedish engineering firm has proposed installing pumps, perhaps solar powered, to lower the underground water level and dig trenches around the bases of the stone walls.

(A) to lower the underground water level and dig trenches

(B) to lower the underground water level and to dig trenches

(C) to lower the underground water level and digging trenches
(D) that lower the underground water level and that trenches be dug

(E) that lower the underground water level and trench digging



20. When rates were raised in 1985, postal service officials predicted they would make further rate increases unnecessary for at least three years.

(A) they would make further rate increases unnecessary

(B) they would mean that further rate increases would not be needed

(C) that it would not be necessary for further rate increases

(D) that the increase would make further rate increases unnecessary

(E) further rate increases will not be needed

21. With its plan to develop seven and a half acres of shore land, Cleveland is but one of a large number of communities on the Great Lakes that is looking to its waterfront as a way to improve the quality of urban life and attract new businesses.

(A) is looking to its waterfront as a way to improve the quality of urban life and attract

(B) is looking at its waterfront to improve the quality of urban life and attract

(C) are looking to their waterfronts to improve the quality of urban life and attract

(D) are looking to its waterfront as a way of improving the quality of urban life and attracting

(E) are looking at their waterfronts as a way they can improve the quality of urban life and attract 

22. A collection of 38 poems by Phillis Wheatley, a slave, was published in the 1770’s, the first book by a Black woman and it was only the second published by an American woman.

(A) it was only the second published by an American woman

(B) it was only the second that an American woman published

(C) the second one only published by an American woman

(D) the second one only that an American woman published

(E) only the second published by an American woman



23. a huge flying reptile that died out with the dinosaurs some 65 million years ago, the Quetzalcoatlus had a wingspan of 36 feet, believed to be the largest flying creature the world has ever seen.

(A) believed to be 

(B) and that is believed to be

(C) and it is believed to have been

(D) which was, it is believed,

(E) which is believed to be

24. A “calendar stick” carved centuries ago by the Winnebago tribe may provide the first evidence that the North American Indians have developed advanced full-year calendars basing them on systematic astronomical observation.

(A) that the North American Indians have developed advanced full-year calendars basing them

(B) of the North American Indians who have developed advanced full-year calendars and based them

(C) of the development of advanced full-year calendars by North American Indians, basing them

(D) of the North American Indians and their development of advanced full-year calendars based

(E) that the North American Indians developed advanced full-year calendars based

25. Federal incentives now encourage investing capital in commercial office buildings despite vacancy rates in existing structures that are exceptionally high and no demand for new construction.

(A) investing capital in commercial office buildings despite vacancy rates in existing structures that are exceptionally high and

(B) capital investment in commercial office buildings, even though vacancy rates in existing structures are exceptionally high and there is 

(C) capital to be invested in commercial office buildings even though there are exceptionally high vacancy rates in existing structures with

(D) investing capital in commercial office buildings even though the vacancy rates are exceptionally high in existing structures with

(E) capital investment in commercial office buildings despite vacancy rates in existing structures that are exceptionally high, and although there is



SENTENCE CORRECTION TEST SECTION 5

30 Minutes　25 Questions

1. The Wallerstein study indicates that even after a decade young men and women still experience some of the effects of a divorce occurring when a child.

(A) occurring when a child

(B) occurring when children

(C) that occurred when a child

(D) that occurred when they were children

(E) that has occurred as each was a child

2. Since 1981, when the farm depression began, the number of acres overseen by professional farm-management companies have grown from 48 million to nearly 59 million, an area that is about Colorado’s size.

(A) have grown from 48 million to nearly 59 million, an area that is about Colorado’s size

(B) have grown from 48 million to nearly 59 million, about the size of Colorado

(C) has grown from 48 million to nearly 59 million, an area about the size of Colorado

(D) has grown from 48 million up to nearly 59 million, an area about the size of Colorado’s

(E) has grown from 48 million up to nearly 59 million, about Colorado’s size.

3. Some bat caves, like honeybee hives, have residents that take on different duties such as defending the entrance, acting as sentinels and to sound a warning at the approach of danger, and scouting outside the cave for new food and roosting sites.

(A) acting as sentinels and to sound

(B) acting as sentinels and sounding

(C) to act as sentinels and sound

(D) to act as sentinels and to sound

(E) to act as a sentinel sounding

4. The only way for growers to salvage frozen citrus is to process them quickly into juice concentrate before they rot when warmer weather returns.

(A) to process them quickly into juice concentrate before they rot when warmer weather returns 

(B) if they are quickly processed into juice concentrate before warmer weather returns to rot them

(C) for them to be processed quickly into juice concentrate before the fruit rots when warmer weather returns
(D) if the fruit is quickly processed into juice concentrate before they rot when warmer weather returns

(E) to have it quickly processed into juice concentrate before warmer weather returns and rots the fruit.



5. Carbon-14 dating reveals that the megalithic monuments in Brittany are nearly 2,000 years as old as any of their supposed  Mediterranean predecessors.

(A) as old as any of their supposed

(B) older than any of their supposed

(C) as old as their supposed

(D) older than any of their supposedly

(E) as old as their supposedly

6. In virtually all types of tissue in every animal species, dioxin induces the production of enzymes that are the organism’s trying to metabolize, or render harmless, the chemical that is irritating it.

(A) trying to metabolize, or render harmless, the chemical that is irritating it 

(B) trying that it metabolize, or render harmless, the chemical irritant

(C) attempt to try to metabolize, or render harmless, such a chemical irritant 

(D) attempt to try and metabolize, or render harmless, the chemical irritating it 

(E) attempt to metabolize, or render harmless, the chemical irritant.

7. Dr. Hakuta’s research among Hispanic children in the United States indicates that the more the children use both Spanish and English, their intellectual advantage is greater in skills underlying reading ability and nonverbal logic.

(A) their intellectual advantage is greater in skills underlying reading ability and nonverbal logic 

(B) their intellectual advantage is the greater in skills underlaying reading ability and nonverbal logic

(C) the greater their intellectual advantage in skills underlying reading ability and nonverbal logic

(D) in skills that underlay reading ability and nonverbal logic, their intellectual advantage is the greater

(E) in skills underlying reading ability and nonverbal logic, the greater intellectual advantage is theirs



8. Lacking information about energy use, people tend to overestimate the amount of energy used by equipment, such as lights, that are visible and must be turned on and off and underestimate that used by unobtrusive equipment, such as water heaters.

(A) equipment, such as lights, that are visible and must be turned on and off and underestimate that

(B) equipment, such as lights, that are visible and must be turned on and off and underestimate it when

(C) equipment, such as lights, that is visible and must be turned on and off and underestimate it when

(D) visible equipment, such as lights, that must be turned on and off and underestimate that 

(E) visible equipment, such as lights, that must be turned on and off and underestimate it when

9. Astronomers at the Palomar Observatory have discovered a distant supernova explosion, one that they believe is a type previously unknown to science.

(A) that they believe is 

(B) that they believe it to be

(C) they believe that it is of

(D) they believe that is

(E) they believe to be of

10. However much United States voters may agree that there is waste in government and that the government as a whole spends beyond its means, it is difficult to find broad support for a movement toward a minimal state.

(A) However much United States voters may agree that

(B) Despite the agreement among United States voters to the fact

(C) Although United States voters agree 

(D) Even though United States voters may agree

(E) There is agreement among United States voters that

11. Based on accounts of various ancient writers, scholars have painted a sketchy picture of the activities of an all-female cult that, perhaps as early as the sixth century B.C., worshipped a goddess known in Latin as Bona Dea, “the good goddess.”

(A) Based on accounts of various ancient writers 

(B) Basing it on various ancient writers’ accounts

(C) With accounts of various ancient writers used for a basis

(D) By the accounts of various ancient writers they used

(E) Using accounts of various ancient writers



12. Formulas for cash flow and the ratio of debt to equity do not apply to new small businesses in the same way as they do to established big businesses, because they are growing and are seldom in equilibrium.

(A) Formulas for cash flow and the ratio of debt to equity do not apply to new small businesses in the same way as they do to established big businesses, because they are growing and are seldom in equilibrium.
(B) Because they are growing and are seldom in equilibrium, formulas for cash flow and the ratio of debt to equity do not apply to new small businesses in the same way as they do to established big businesses.

(C) Because they are growing and are seldom in equilibrium, new small businesses are not subject to the same applicability of formulas for cash flow and the ratio of debt to equity as established big businesses.
(D) Because new small businesses are growing and are seldom in equilibrium, formulas for cash flow and the ratio of debt to equity do not apply to them in the same way as to established big businesses.

(E) New small businesses are not subject to the applicability of formulas for cash flow and the ratio of debt to equity in the same way as established big businesses, because they are growing and are seldom in equilibrium.

13. State officials report that soaring rates of liability insurance have risen to force cutbacks in the operations of everything from local governments and school districts to day-care centers and recreational facilities.

(A) rates of liability insurance have risen to force

(B) rates of liability insurance are a force for 

(C) rates for liability insurance are forcing

(D) rises in liability insurance rates are forcing

(E) liability insurance rates have risen to force

14. Paleontologists believe that fragments of a primate jawbone unearthed in Burma and estimated at 40 to 44 million years old provide evidence of a crucial step along the evolutionary path that led to human beings.

(A) at 40 to 44 million years old provide evidence of

(B) as being 40 to 44 million years old provides evidence of
(C) that it is 40 to 44 million years old provides evidence of what was

(D) to be 40 to 44 million years old provide evidence of

(E) as 40 to 44 million years old provides evidence of what was




15. In his research paper, Dr. Frosh, medical director of the Payne Whitney Clinic, distinguishes mood swings, which may be violent without their being grounded in mental disease, from genuine manic-depressive psychosis.
(A) mood swings, which may be violent without their being grounded in mental disease, from genuine manic-depressive psychosis

(B) mood swings, perhaps violent without being grounded in mental disease, and genuine manic-depressive psychosis

(C) between mood swings, which may be violent without being grounded in mental disease, and genuine manic-depressive psychosis

(D) between mood swings, perhaps violent without being grounded in mental disease, from genuine manic-depressive psychosis

(E) genuine manic-depressive psychosis and mood swings, which may be violent without being grounded in mental disease

16. Unlike a typical automobile loan, which requires a fifteen-to twenty-percent down payment, the lease​-loan buyer is not required to make an initial deposit on the new vehicle.

(A) the lease-loan buyer is not required to make 

(B) with lease-loan buying there is no requirement of

(C) lease-loan buyers are not required to make

(D) for the lease-loan buyer there is no requirement of

(E) a lease-loan does not require the buyer to make

17. Native American burial sites dating back 5,000 years indicate that the residents of Maine at that time were part of a widespread culture of Algonquian-speaking people.

(A) were part of a widespread culture of Algonquian-speaking people

(B) had been part of a widespread culture of people who were Algonquian-speaking 

(C) were people who were part of a widespread culture that was Algonquian-speaking

(D) had been people who were part of a widespread culture that was Algonquian-speaking

(E) were a people which had been part of a widespread, Algonquian-speaking culture



18. Each of Hemingway’s wives—Hadley Richardson, Pauline Pfeiffer, Martha Gelhorn, and Mary Welsh—were strong and interesting women, very different from the often pallid women who populate his novels.

(A) Each of Hemingway’s wives—Hadley Richardson, Pauline Pfeiffer, Martha Gelhorn, and Mary Welsh—were strong and interesting women,

(B) Hadley Richardson, Pauline Pfeiffer, Martha Gelhorn, and Mary Welsh—each of them Hemingway’s wives—were strong and interesting women,

(C) Hemingway’s wives—Hadley Richardson, Pauline Pfeiffer, Martha Gelhorn, and Mary Welsh—were all strong and interesting women,

(D) Strong and interesting women—Hadley Richardson, Pauline Pfeiffer, Martha Gelhorn, and Mary Welsh—each a wife of Hemingway, was

(E) Strong and interesting women—Hadley Richardson, Pauline Pfeiffer, Martha Gelhorn, and Mary Welsh—every one of Hemingway’s wives were

19. In addition to having more protein than wheat does, the protein in rice is higher quality than that in wheat, with more of the amino acids essential to the human diet.

(A) the protein in rice is higher quality than that in 

(B) rice has protein of higher quality than that in 

(C) the protein in rice is higher in quality than it is in

(D) rice protein is higher in quality than it is in 

(E) rice has a protein higher in quality than

20. An array of tax incentives has led to a boom in the construction of new office buildings; so abundant has capital been for commercial real estate that investors regularly scour the country for areas in which to build.

(A) so abundant has capital been for commercial real estate that 

(B) capital has been so abundant for commercial real estate, so that

(C) the abundance of capital for commercial real estate has been such,

(D) such has the abundance of capital been for commercial real estate that

(E) such has been an abundance of capital for commercial real estate,



21. Defense attorneys have occasionally argued that their clients’ misconduct stemmed from a reaction to something ingested, but in attributing criminal or delinquent behavior to some food allergy, the perpetrators are in effect told that they are not responsible for their actions.

(A) in attributing criminal or delinquent behavior to some food allergy

(B) if criminal or delinquent behavior is attributed to an allergy to some food

(C) in attributing behavior that is criminal or delinquent to an allergy to some food

(D) if some food allergy is attributed as the cause of criminal or delinquent behavior

(E) in attributing a food allergy as the cause of criminal or delinquent behavior

22. The voluminous personal papers of Thomas Alva Edison reveal that his inventions typically sprang to life not in a flash of inspiration but evolved slowly from previous works.

(A) sprang to life not in a flash of inspiration but evolved slowly 

(B) sprang to life not in a flash of inspiration but were slowly evolved

(C) did not spring to life in a flash of inspiration but evolved slowly

(D) did not spring to life in a flash of inspiration but had slowly evolved 

(E) did not spring to life in a flash of inspiration but they were slowly evolved.

23. As more and more people invest their money in savings certificates or money-market funds in order to earn higher interest, they are abandoning traditional low-interest investment havens such as passbook accounts and life insurance policies.

(A) As more and more people invest their money 

(B) While people have more and more been investing their money

(C) As money is more and more invested by people 

(D) More and more, when investors put their money

(E) While, more and more, investors have been putting their money



24. Margaret Courtney-Clarke has traveled to remote dwellings in the Transvaal to photograph the art of Ndebele women, whose murals are brilliantly colored, their geometrical symmetries embellished with old and new iconography and in a style that varies from woman to woman and house to house.
(A) whose murals are brilliantly colored, their geometrical symmetries embellished with old and new iconography and in a style that varies from woman to woman and house to house

(B) whose murals are brilliantly colored, their geometrical symmetries are embellished with old and new iconography, and their style is varying among women and houses

(C) whose murals are brilliantly colored, their geometrical symmetries are embellished with old and new iconography, and they are in styles that vary from woman to woman and house to house

(D) with murals brilliantly colored, their geometrical symmetries embellished with old and new iconography, and their style varies among women and houses

(E) with murals that are brilliantly colored, their geometrical symmetries embellished with old and new iconography, and their styles vary among women and houses

25. Florida will gain another quarter-million jobs this year alone, many of them in high-paying fields like electronics and banking, making the state’s economy far more diversified than ten years ago.

(A) high-paying fields like electronics and banking, making the state’s economy far more diversified than

(B) high-paying fields like electronics and banking, and making the state’s economy far more diversified than its economy

(C) high-paying fields such as electronics and banking, to make the state’s economy far more diversified than

(D) such high-paying fields as electronics and banking, making the state’s economy far more diversified than it was

(E) Such high-paying fields as electronics and banking, and make the state’s economy far more diversified than it was.



 SENTENCE CORRECTION TEST SECTION 6

30 Minutes　25 Questions
1. A Labor Department study states that the numbers of women employed outside the home grew by more than a thirty-five percent increase in the past decade and accounted for more than sixty-two percent of the total growth in the civilian work force.

(A) numbers of women employed outside the home grew by more than a thirty-five percent increase

(B) numbers of women employed outside the home grew more than thirty-five percent

(C) numbers of women employed outside the home were raised by more than thirty-five percent 

(D) number of women employed outside the home increased by more than thirty-five percent 

(E) number of women employed outside the home was raised by more than a thirty-five percent increase.

2. The first decision for most tenants living in a building undergoing being converted to cooperative ownership is if to sign a no-buy pledge with the other tenants.

(A) being converted to cooperative ownership is if to sign

(B) being converted to cooperative ownership is whether they should be signing

(C) being converted to cooperative ownership is whether or not they sign

(D) conversion to cooperative ownership is if to sign

(E) conversion to cooperative ownership is whether to sign
3. The end of the eighteenth century saw the emergence of prize-stock breeding, with individual bulls and cows receiving awards, fetching unprecedented prices, and excited enormous interest whenever they were put on show.

(A) excited

(B) it excited

(C) exciting

(D) would excite

(E) it had excited

4. Of all the possible disasters that threaten American agriculture, the possibility of an adverse change in climate is maybe the more difficult for analysis.

(A) is maybe the more difficult for analysis

(B) is probably the most difficult to analyze

(C) is maybe the most difficult for analysis

(D) is probably the more difficult to analyze

(E) is, it may be, the analysis that is most difficult



5. Published in Harlem, the owner and editor of the Messenger were two young journalists, Chandler Owen and A. Philip Randolph, who would later make his reputation as a labor leader.
(A) Published in Harlem, the owner and editor of the Messenger were two young journalists, Chandler Owen and A. Philip Randolph, who would later make his reputation as a labor leader.

(B) Published in Harlem, two young journalists, Chandler Owen and A. Philip Randolph, who would later make his reputation as a labor leader, were the owner and editor of the Messenger.
(C) Published in Harlem, the Messenger was owned and edited by two young journalists, A. Philip Randolph, who would later make his reputation as a labor leader, and Chandler Owen.

(D) The Messenger was owned and edited by two young journalists, Chandler Owen and A. Philip Randolph, who would later make his reputation as a labor leader, and published in Harlem.

(E) The owner and editor being two young journalists, Chandler Owen and A. Philip Randolph, who would later make his reputation as a labor leader, the Messenger was published in Harlem.

6. The rise in the Commerce Department’s index of leading economic indicators suggest that the economy should continue its expansion into the coming months, but that the mixed performance of the index’s individual components indicates that economic growth will proceed at a more moderate pace than in the first quarter of this year.

(A) suggest that the economy should continue its expansion into the coming months, but that 

(B) suggest that the economy is to continue expansion in the coming months, but

(C) suggests that the economy will continue its expanding in the coming months, but that

(D) suggests that the economy is continuing to expand into the coming months, but that

(E) suggests that the economy will continue to expand in the coming months, but 

7. In three centuries—from 1050 to 1350—several million tons of stone were quarried in France for the building of eighty cathedrals, five hundred large churches, and some tens of thousands of parish churches.

(A) for the building of eighty cathedrals, five hundred large churches, and some

(B) in order that they might build eighty cathedrals, five hundred large churches, and some

(C) so as they might build eighty cathedrals, five hundred large churches, and some

(D) so that there could be built eighty cathedrals, five hundred large churches, and 

(E) such that they could build eighty cathedrals, five hundred large churches, and

8. What was as remarkable as the development of the compact disc has been the use of the new technology to revitalize, in better sound than was ever before possible, some of the classic recorded performances of the pre-LP era.

(A) What was as remarkable as the development of the compact disc

(B) The thing that was as remarkable as developing the compact disc

(C) No less remarkable than the development of the compact disc

(D) Developing the compact disc has been none the less remarkable than

(E) Development of the compact disc has been no less remarkable as

9. Unlike computer skills or other technical skills, there is a disinclination on the part of many people to recognize the degree to which their analytical skills are weak.
(A) Unlike computer skills or other technical skills, there is a disinclination on the part of many people to recognize the degree to which their analytical skills are weak.

(B) Unlike computer skills or other technical skills, which they admit they lack, many people are disinclined to recognize that their analytical skills are weak.

(C) Unlike computer skills or other technical skills, analytical skills bring out a disinclination in many people to recognize that they are weak to a degree.

(D) Many people, willing to admit that they lack computer skills or other technical skills, are disinclined to recognize that their analytical skills are weak.

(E) Many people have a disinclination to recognize the weakness of their analytical skills while willing to admit their lack of computer skills or other technical skills.



10. Some buildings that were destroyed and heavily damaged in the earthquake last year were constructed in violation of the city’s building code.

(A) Some buildings that were destroyed and heavily damaged in the earthquake last year were 

(B) Some buildings that were destroyed or heavily damaged in the earthquake last year had been

(C) Some buildings that the earthquake destroyed and heavily damaged last year have been

(D) Last year the earthquake destroyed or heavily damaged some buildings that have been 

(E) Last year some of the buildings that were destroyed or heavily damaged in the earth quake had been

11. From the earliest days of the tribe, kinship determined the way in which the Ojibwa society organized its labor, provided access to its resources, and defined rights and obligations involved in the distribution and consumption of those resources.

(A) and defined rights and obligations involved in the distribution and consumption of those resources

(B) defining rights and obligations involved in their distribution and consumption

(C) and defined rights and obligations as they were involved in its distribution and consumption

(D) whose rights and obligations were defined in their distribution and consumption

(E) the distribution and consumption of them defined by rights and obligations

12. A report by the American Academy for the Advancement of Science has concluded that much of the currently uncontrolled dioxins to which North Americans are exposed comes from the incineration of wastes.

(A) much of the currently uncontrolled dioxins to which North Americans are exposed comes 

(B) much of the currently uncontrolled dioxins that North Americans are exposed to come

(C) much of the dioxins that are currently uncontrolled and that North Americans are exposed to comes

(D) many of the dioxins that are currently uncontrolled and North Americans are exposed to come

(E) many of the currently uncontrolled dioxins to which North Americans are exposed come 



13. In June of 1987, The Bridge of Trinquetaille, Vincent van Gogh’s view of an iron bridge over the Rhone sold for $20.2 million and it was the second highest price ever paid for a painting at auction.

(A) Rhone sold for $20.2 million and it was

(B) Rhone, which sold for $20.2 million, was

(C) Rhone, was sold for $20.2 million,

(D) Rhone was sold for $20.2 million, being

(E) Rhone, sold for $20.2 million, and was

14. Bufo marinus toads, fierce predators that will eat frogs, lizards, and even small birds, are native to South America but were introduced into Florida during the 1930’s in an attempt to control pests in the state’s vast sugarcane fields.

(A) are native to South America but were introduced into Florida during the 1930’s in an attempt to control

(B) are native in South America but were introduced into Florida during the 1930’s as attempts to control

(C) are natives of South America but were introduced into Florida during the 1930’s in an attempt at controlling

(D) had been native to South America but were introduced to Florida during the 1930’s as an attempt at controlling

(E) had been natives of South America but were introduced to Florida during the 1930’s as attempts at controlling

15. While some academicians believe that business ethics should be integrated into every business course, others say that students will take ethics seriously only if it would be taught as a separately required course.

(A) only if it would be taught as a separately required course

(B) only if it is taught as a separate, required course 

(C) if it is taught only as a course required separately

(D) if it was taught only as a separate and required course

(E) if it would only be taught as a required course, separately



16. Scientists have observed large concentrations of heavy-metal deposits in the upper twenty centimeters of Baltic Sea sediments, which are consistent with the growth of industrial activity there.

(A) Baltic Sea sediments, which are consistent with the growth of industrial activity there

(B) Baltic Sea sediments, where the growth of industrial activity is consistent with these findings

(C) Baltic Sea sediments, findings consistent with its growth of industrial activity

(D) sediments from the Baltic Sea, findings consistent with the growth of industrial activity in the area

(E) sediments from the Baltic Sea, consistent with the growth of industrial activity there

17. For members of the seventeenth-century Ashanti nation in Africa, animal-hide shields with wooden frames were essential items of military equipment, a method to protect warriors against enemy arrows and spears.

(A) a method to protect

(B) as a method protecting 

(C) protecting

(D) as a protection of

(E) to protect

18. In metalwork one advantage of adhesive-bonding over spot-welding is that the contact, and hence the bonding, is effected continuously over a broad surface instead of a series of regularly spaced points with no bonding in between.

(A) instead of

(B) as opposed to 

(C) in contrast with

(D) rather than at

(E) as against being at

19. Under a provision of the Constitution that was never applied, Congress has been required to call a convention for considering possible amendments to the document when formally asked to do it by the legislatures of two-thirds of the states.

(A) was never applied, Congress has been required to call a convention for considering possible amendments to the document when formally asked to do it





(B) was never applied, there has been a requirement that Congress call a convention for consideration of possible amendments to the document when asked to do it formally

(C) was never applied, whereby Congress is required to call a convention for considering possible amendments to the document when asked to do it formally

(D) has never been applied, whereby Congress is required to call a convention to consider possible amendments to the document when formally asked to do so

(E) has never been applied, Congress is required to call a convention to consider possible amendments to the document when formally asked to do so

20. The current administration, being worried over some foreign trade barriers being removed and our exports failing to increase as a result of deep cuts in the value of the dollar, has formed a group to study ways to sharpen our competitiveness.

(A) being worried over some foreign trade barriers being removed and our exports failing 

(B) worrying over some foreign trade barriers being removed, also over the failure of our exports

(C) worried about the removal of some foreign trade barriers and the failure of our exports

(D) in that they were worried about the removal of some foreign trade barriers and also about the failure of our exports

(E) because of its worry concerning the removal of some foreign trade barriers, also concerning the failure of our exports

21. In the minds of many people living in England, before Australia was Australia, it was the antipodes, the opposite pole to civilization, an obscure and unimaginable place that was considered the end of the world.

(A) before Australia was Australia, it was the antipodes

(B) before there was Australia, it was the antipodes

(C) it was the antipodes that was Australia

(D) Australia was what was the antipodes

(E) Australia was what had been known as the antipodes.



22. Using a Doppler ultrasound device, fetal heartbeats can be detected by the twelfth week of pregnancy.
(A) Using a Doppler ultrasound device, fetal heartbearts can be detected by the twelfth week of pregnancy.

(B) Fetal heartbeats can be detected by the twelfth week of pregnancy, using a Doppler ultrasound device.

(C) Detecting fetal heartbeats by the twelfteh week of pregnancy, a physician can use a Doppler ultrasound device.

(D) By the twelfth week of pregnancy, fetal heart-beats can be detected using a Doppler ultrasound device by a physician.

(E) Using a Doppler ultrasound device, a physician can detect fetal heartbeats by the twelfth week of pregnancy.

23. Constance Horner, chief of the United States government’s personnel agency, has recommended that the use of any dangerous or illegal drug in the five years prior to application for a job be grounds for not hiring an applicant.
(A) the use of any dangerous or illegal drug in the five years prior to application for a job be grounds for not hiring an applicant

(B) any dangerous or illegal drug, if used in the five years prior to applying for a job, should be grounds not to hire the applicant

(C) an applicant’s use of any dangerous or illegal drug in the five years prior to application for a job be grounds not to hire them

(D) an applicant’s use of any dangerous or illegal drug in the five years prior to applying for a job are grounds that they not be hired

(E) for five years prior to applying for a job, an applicant’s use of any dangerous or illegal drug be grounds for not hiring them



24. Inflation in medical costs showed in 1986 for the fifth consecutive year but were still about 50 percent greater than the rate of price increases for other items included in the consumer price index.

(A) Inflation in medical costs slowed in 1986 for the fifth consecutive year but were

(B) Inflation in medical costs slowed for the fifth consecutive year in 1986 but was

(C) In 1986 inflation in medical costs were slowed for the fifth consecutive year but were

(D) 1986 was the fifth consecutive year in which inflation in medical costs slowed but was 

(E) 1986 was the fifth consecutive year that inflation in medical costs were slowed, but they were

25. The most common reasons for an employee’s unwill​ingness to accept a transfer are that mortgage rates are high, housing in the new location costs more, and the difficulty of selling the old home.

(A) that mortgage rates are high, housing in the new location costs more, and the difficulty of selling the old home.

(B) that mortgage rates are high, housing in the new location costs more, and that it is difficult to sell the old home

(C) high mortgage rates, the greater cost of housing in the new location, and that the old home is difficult to sell

(D) high mortgage rates, the greater cost of housing in the new location, and it is difficult to sell the old home.

(E) high mortgage rates, the greater cost of housing in the new location, and the difficulty of selling the old home



SENTENCE CORRECTION TEST SECTION 7
30 Minutes　25 Questions
1. Delighted by the reported earnings for the first quarter of the fiscal year, it was decided by the company manager to give her staff a raise.

(A) it was decided by the company manager to give her staff a raise

(B) the decision of the company manager was to give her staff a raise 

(C) the company manager decided to give her staff a raise

(D) the staff was given a raise by the company manager

(E) a raise was given to the staff by the company manager

2. A study commissioned by the Department of Agriculture showed that if calves exercise and associated with other calves, they will require less medication and gain weight quicker than do those raised in confinement.

(A) associated with other calves, they will require less medication and gain weight quicker than do

(B) associated with other calves, they require less medication and gain weight quicker than 

(C) associate with other calves, they required less medication and will gain weight quicker than do

(D) associate with other calves, they have required less medication and will gain weight more quickly than do

(E) associate with other calves, they require less medication and gain weight more quickly than

3. Displays of the aurora borealis, or “northern lights,” can heat the atmosphere over the arctic enough to affect the trajectories of ballistic missiles, induce electric currents that can cause blackouts in some areas and corrosion in north-south pipelines.

(A) to affect the trajectories of ballistic missiles, induce

(B) that the trajectories of ballistic missiles are affected, induce

(C) that it affects the trajectories of ballistic missiles, induces

(D) that the trajectories of ballistic missiles are affected and induces

(E) to affect the trajectories of ballistic missiles and induce

4. The golden crab of the Gulf of Mexico has not been fished commercially in great numbers, primarily  on account of living at great depths—2,500 to 3,000 feet down.

(A) on account of living

(B) on account of their living 

(C) because it lives

(D) because of living 

(E) because they live

5. The cameras of the Voyager Ⅱ spacecraft detected six small, previously unseen moons circling Uranus, which doubles to twelve the number of satellites now known as orbiting the distant planet.

(A) which doubles to twelve the number of satellites now known as orbiting

(B) doubling to twelve the number of satellites now known to orbit

(C) which doubles to twelve the number of satellites now known in orbit around

(D) doubling to twelve the number of satellites now known as orbiting

(E) which doubles to twelve the number of satellites now known that orbit

6. As a baby emerges from the darkness of the womb with a rudimentary sense of vision, it would be rated about 20/500, or legally blind if it were an adult with such vision.

(A) As a baby emerges form the darkness of the womb with a rudimentary sense of vision, it would be rated about 20/500, or legally blind if it were an adult with such vision.

(B) A baby emerges from the darkness of the womb with a rudimentary sense of vision that would be rated about 20/500, or legally blind as an adult.

(C) As a baby emerges from the darkness of the womb, its rudimentary sense of vision would be rated about 20/500; qualifying it to be legally blind if an adult.

(D) A baby emerges from the darkness of the womb with a  rudimentary sense of vision that would be rated about 20/500; an adult with such vision would be deemed legally blind.

(E) As a baby emerges from the darkness of the womb, its rudimentary sense of vision, which would be deemed legally blind for an adult, would be rated about 20/500.

7. While Jackie Robinson was a Brooklyn Dodger, his courage in the face of physical threats and verbal attacks was not unlike that of Rosa Parks, who refused to move to the back of a bus in Montgomery, Alabama.



(A) not unlike that of Rosa Parks, who refused 

(B) not unlike Rosa Parks, who refused

(C) like Rosa Parks and her refusal

(D) like that of Rosa Parks for refusing

(E) as that of Rosa Parks, who refused

8. The rising of costs of data-processing operations at many financial institutions has created a growing opportunity for independent companies to provide these services more efficiently and at lower cost 

(A) The rising of costs

(B) Rising costs

(C) The rising cost

(D) Because the rising cost

(E) Because of rising costs

9. There is no consensus on what role, if any, is played by acid rain in slowing the growth or damaging forests in the eastern United States.

(A) slowing the growth or damaging

(B) the damage or the slowing of the growth of 

(C) the damage to or the slowness of the growth of 

(D) damaged or slowed growth of

(E) damaging or slowing the growth of

10. Galileo was convinced that natural phenomena, as manifestations of the laws of physics, would appear the same to someone on the deck of a ship moving smoothly and uniformly through the water as a person standing on land.
(A) water as a 

(B) water as to a

(C) water; just as it would to

(D) water, as it would to the 

(E) water; just as to the

11. A recent study has found that within the past few years, many doctors had elected early retirement rather than face the threats of lawsuits and the rising costs of malpractice insurance.

(A) had elected early retirement rather than face

(B) had elected early retirement instead of facing

(C) have elected retiring early instead of facing

(D) have elected to retire early rather than facing 

(E) have elected to retire early rather than face

12. Architects and stonemasons, huge palace and temple clusters were built by the Maya without benefit of the wheel or animal transport.

(A) huge palace and temple clusters were built by the Maya without benefit of the wheel or animal transport

(B) without the benefits of animal transport or the wheel, huge palace and temple clusters were built by the Maya

(C) the Maya built huge palace and temple clusters without the benefit of animal transport or the wheel

(D) there were built, without the benefit of the wheel or animal transport, huge palace and temple clusters by the Maya

(E) were the Maya who, without the benefit of the wheel or animal transport, built huge palace and temple clusters

13. In astronomy the term “red shift” denotes the extent to which light from a distant galaxy has been shifted toward the red, or long-wave, end of the light spectrum by the rapid motion of the galaxy away from the Earth.

(A) to which light from a distant galaxy has been shifted

(B) to which light from a distant galaxy has shifted 

(C) that light from a distant galaxy has been shifted

(D) of light from a distant galaxy shifting

(E) of the shift of light from a distant galaxy

14. William H. Johnson’s artistic debt to Scandinavia is evident in paintings that range from sensitive portraits of citizens in his wife’s Danish home, Kerteminde, and awe-inspiring views of fjords and mountain peaks in the western and northern regions of Norway.

(A) and

(B) to

(C) and to

(D) with

(E) in addition to

15. In 1978 only half the women granted child support by a court received the amount awarded; at least as much as  a million and more others had not any support agreements whatsoever.

(A) at least as much as a million and more others had not any

(B) at least as much as more than a million others had no

(C) more than a million others had not any 

(D) more than a million others had no

(E) there was at least a million or more others without any



16. According to a recent poll, owning and living in a freestanding house on its own land is still a goal of a majority of young adults, like that of earlier generations.

(A) like that of earlier generations

(B) as that for earlier generations

(C) just as earlier generations did

(D) as have earlier generations

(E) as it was of earlier generations

17. The Gorton-Dodd bill requires that a bank disclose to their customers how long they will delay access to funds from deposited checks.
(A) that a bank disclose to their customers how long they will delay access to funds from deposited checks

(B) a bank to disclose to their customers how long they will delay access to funds from deposited check

(C) that a bank disclose to its customers how long it will delay access to funds from a deposited checks

(D) a bank that it should disclose to its customers how long it will delay access to funds from a deposited check

(E) that banks disclose to customers how long access to funds from their deposited check is to be delayed

18. Geologists believe that the warning signs for a major earthquake may include sudden fluctuations in local seismic activity, tilting and other deformations of the Earth’s crust, changing the measured stain across a fault zone, and varying the electrical properties of underground rocks.

(A) changing the measured strain across a fault zone, and varying

(B) changing measurements of the strain across a fault zone, and varying

(C) changing the strain as measured across a fault zone, and variations of

(D) changes in the measured strain across a fault zone, and variations in

(E) changes in measurements of the strain across a fault zone, and variations among

19. Health officials estimate that 35 million Africans are in danger of contracting trypanosomiasis, or “African sleeping sickness,” a parasitic disease spread by the bites of tsetse flies.

(A) are in danger of contracting 

(B) are in danger to contract



(C) have a danger of contracting

(D) are endangered by contraction

(E) have a danger that they will contract

20. Unlike a funded pension system, in which contributions are invested to pay future beneficiaries, a pay-as-you-go approach is the foundation of Social Security.

(A) a pay-as-you-go approach is the foundation of Social Security

(B) the foundation of Social Security is a pay-as-you-go approach

(C) the approach of Social Security is pay-as-you-go

(D) Social Security’s approach is pay-as-you-go

(E) Social Security is founded on a pay-as-you-go approach
21. Critics of the trend toward privately operated prisons consider corrections facilities to be an integral part of the criminal justice system and question if profits should be made from incarceration.

(A) to be an integral part of the criminal justice system and question if

(B) as an integral part of the criminal justice system and they question if

(C) as being an integral part of the criminal justice system and question whether

(D) an integral part of the criminal justice system and question whether

(E) are an integral part of the criminal justice system, and they question whether

22. The Federal Reserve Board’s reduction of interest rates on loans to financial institutions is both an acknowledgement of past economic trends and an effort to influence their future direction.

(A) reduction of interest rates on loans to financial institutions is both an acknowledgement of past economic trends and an effort

(B) reduction of interest rates on loans to financial institutions is an acknowledgement both of past economic trends as well as an effort

(C) reduction of interest rates on loans to financial institutions both acknowledge past economic trends and attempt

(D) reducing interest rates on loans to financial institutions is an acknowledgement both of past economic trends and an effort

(E) reducing interest rates on loans to financial institutions both acknowledge past economic trends as well as attempt



23. Tiny quantities of more than thirty rare gases, most of them industrial by-products, threaten to warm the Earth’s atmosphere even more rapidly than carbon dioxide during the next fifty years.

(A) to warm the Earth’s atmosphere even more rapidly than carbon dioxide during the next fifty years

(B) to warm the Earth’s atmosphere even more rapidly over the next fifty years than carbon dioxide will

(C) during the next fifty years to warm the Earth’s atmosphere even more rapidly than carbon dioxide

(D) a warming of the Earth’s atmosphere during the next fifty years even more rapid than carbon dioxide’s 

(E) a warming of the Earth’s atmosphere even more rapid than carbon dioxide’s will be over the next fifty years

24. Several years ago the diet industry introduced a variety of appetite suppressants, but some of these drugs caused stomach disorders severe enough to have them banned by the Food and Drug Administration.

(A) stomach disorders severe enough to have them

(B) stomach disorders that were severe enough so they were 

(C) stomach disorders of such severity so as to be 

(D) such severe stomach disorders that they were

(E) such severe stomach disorders as to be

25. Some analysts contend that true capitalism exists only when the ownership of both property and the means of production is regarded as an inalienable right of an individual’s, and it is not a license granted by government and revokable at whim.

(A) is regarded as an inalienable right of an individual’s, and it is not

(B) are regarded as individuals’ inalienable rights, and that it not be

(C) is regarded as an individual’s inalienable right, not as

(D) are regarded as an individual’s inalienable rights, not when they are 

(E) is regarded as the inalienable rights of an individual, not when it is



SENTENCE CORRECTION TEST SECTION 8

30 Minutes　25 Questions
1. Congress is debating a bill requiring certain employers provide workers with unpaid leave so as to care for sick or newborn children.

(A) provide workers with unpaid leave so as to 

(B) to provide workers with unpaid leave so as to 

(C)provide workers with unpaid leave in order that they

(D)to provide workers with unpaid leave so that they can

(E) provide workers with unpaid leave and

2. Often visible as smog, ozone is formed in the atmosphere from hydrocarbons and nitrogen oxides, two major pollutants emitted by automobiles, react with sunlight.

(A) ozone is formed in the atmosphere from

(B) ozone is formed in the atmosphere when

(C) ozone is formed in the atmosphere, and when

(D) ozone, formed in the atmosphere when

(E) ozone, formed in the atmosphere from

3. Although she had signed a pledge of abstinence while being an adolescent, Frances Willard was 35 years old before she chose to become a temperance activist.
(A) while being an adolescent 

(B) while in adolescence 

(C) at the time of her being adolescent

(D) as being in adolescence

(E) as an adolescent

4. A President entering the final two years of a second term is likely to be at a severe disadvantage and is often unable to carry out a legislative program.

(A) likely to be at a severe disadvantage and is often unable to 

(B) likely severely disadvantaged and often unable to 

(C) liable to be severely disadvantaged and cannot often

(D)liable that he or she is at a severe disadvantage and cannot often

(E) at a severe disadvantage, often likely to be unable that he or she can

5. The original building and loan associations were organized as limited life funds, whose members made monthly payments on their share subscriptions, then taking turns drawing on the funds for home mortgages.

(A) subscriptions, then taking turns drawing 

(B) subscriptions, and then taking turns drawing 



(C) subscriptions and then took turns drawing 

(D) subscriptions and then took turns, they drew

(E) subscriptions and then drew, taking turns.

6. The number of undergraduate degrees in engineering awarded by colleges and universities in the United States increased by more than twice from 1978 to 1985.

(A) increased by more than twice 

(B) increased more than two times 

(C) more than doubled

(D) was more than doubled 

(E) had more than doubled

7. The British Admiralty and the War Office met in March 1892 to consider a possible Russian attempt to seize Constantinople and how they would have to act militarily to deal with them.

(A) how they would have to act militarily to deal with them

(B) how to deal with them if military action would be necessary

(C) what would be necessary militarily for dealing with such an event

(D) what military action would be necessary in order to deal with such an event

(E) the necessity of what kind of military action in order to take for dealing with it

8. Growing competitive pressures may be encouraging auditors to bend the rules in favor of clients; auditors may, for instance, allow a questionable loan to remain on the books in order to maintain a bank’s profits on paper.

(A) clients; auditors may, for instance, allow

(B) clients, as an instance, to allow

(C) clients, like to allow

(D) clients, such as to be allowing

(E) clients; which might, as an instance, be the allowing of 

9. If the proposed expenditures for gathering information abroad are reduced even further, international news reports have been and will continue to diminish in number and quality.

(A) have been and will continue to diminish 

(B) have and will continue to diminish

(C) will continue to diminish, as they already did,

(D) will continue to diminish, as they have already,

(E) will continue to diminish



10. Gall’s hypothesis of there being different mental functions localized in different parts of the brain is widely accepted today.

(A) of there being different mental functions localized in different parts of the brain is widely accepted today

(B) of different mental functions that are localized in different parts of the brain is widely accepted today

(C) that different mental functions are localized in different parts of the brain is widely accepted today

(D) which is that there are different mental functions localized in different parts of the brain is widely accepted today

(E) which is widely accepted today is that there are different mental functions localized in different parts of the brain

11. Though the term “graphic design” may suggest laying out corporate brochures and annual reports, they have come to signify widely ranging work, from package designs and company logotypes to signs, book jackets, computer graphics, and film titles.

(A) suggest laying out corporate brochures and annual reports, they have come to signify widely ranging

(B) suggest laying out corporate brochures and annual reports, it has come to signify a wide range of

(C) suggest corporate brochure and annual report layout, it has signified widely ranging

(D) have suggested corporate brochure and annual report layout, it has signified a wide range of 

(E) have suggested laying out corporate brochures and annual reports, they have come to signify widely ranging 

12. The root systems of most flowering perennials either become too crowded, which results in loss in vigor, and spread too far outward, producing a bare center.

(A) which results in loss in vigor, and spread

(B) resulting in loss in vigor, or spreading

(C) with the result of loss of vigor, or spreading

(D) resulting in loss of vigor, or spread

(E) with a resulting loss of vigor, and spread.

13. George Sand (Aurore Lucile Dupin) was one of the first European writers to consider the rural poor to be legitimate subjects for literature and portray these with sympathy and respect in her novels.

(A) to be legitimate subjects for literature and portray these



(B) should be legitimate subjects for literature and portray these

(C) as being legitimate subjects for literature and portraying them.

(D) as if they were legitimate subjects for literature and portray them

(E) legitimate subjects for literature and to portray them 

14. Salt deposits and moisture threaten to destroy the Mohenjo-Daro excavation in Pakistan, the site of an ancient civilization that flourished at the same time as the civilizations in the Nile delta and the river valleys of the Tigris and Euphrates.

(A) that flourished at the same time as the civilizations

(B) that had flourished at the same time as had the civilizations

(C) that flourished at the same time those had

(D) flourishing at the same time as those did 

(E) flourishing at the same time as those were 

15. In 1973 mortgage payments represented twenty-one percent of an average thirty-year-old male’s income; and forty-four percent in 1984.

(A) income; and forty-four percent in 1984

(B) income; in 1984 the figure was forty-four percent

(C) income, and in 1984 forty-four percent

(D) income, forty-four percent in 1984 was the figure

(E) income that rose to forty-four percent in 1984

16. In contrast to large steel plants that take iron ore through all the steps needed to produce several different kinds of steel, processing steel scrap into a specialized group of products has enabled small mills to put capital into new technology and remain economically viable.
(A) processing steel scrap into a specialized group of products has enabled small mills to put capital into new technology and remain

(B) processing steel scrap into a specialized group of products has enabled small mills to put capital into new technology, remaining

(C) the processing of steel scrap into a specialized group of products has enabled small mills to put capital into new technology, remaining

(D) small mills, by processing steel scrap into a specialized group of products, have been able to put capital into new technology and remain

(E) small mills, by processing steel scrap into a specialized group of products, have been able to put capital into new technology and remained



17. Any medical test will sometimes fail to detect a condition when it is present and indicate that there is one when it is not.

(A) a condition when it is present and indicate that there is one

(B) when a condition is present and indicate that there is one

(C) a condition when it is present and indicate that it is present

(D) when a condition is present and indicate its presence

(E) the presence of a condition when it is there and indicate its presence

18. One legacy of Madison Avenue’s recent campaign to appeal to people fifty years old and over is the realization that as a person ages, their concerns change as well.

(A) the realization that as a person ages, their

(B) the realization that as people age, their 

(C) to realize that when a person ages, his or her

(D) to realize that when people age, their 

(E) realizing that as people age, their

19. Out of America’s fascination which all things antique have grown a market for bygone styles of furniture and fixtures that are bringing back the chaise lounge, the overstuffed sofa, and the claw-footed bathtub.

(A) things antique have grown a market for bygone styles of furniture and fixtures that are bringing

(B) things antique has grown a market for bygone styles of furniture and fixtures that is bringing

(C) things that are antiques has grown a market for bygone styles of furniture and fixtures that bring

(D) antique things have grown a market for bygone styles of furniture and fixtures that are bringing

(E) antique things has grown a market for bygone styles of furniture and fixtures that bring

20. Having the right hand and arm being crippled by a sniper’s bullet during the First World War, Horace Pippin, a Black American painter, worked by holding the brush in his right hand and guiding its movements with his left.

(A) Having the right hand and arm being crippled by a sniper’s bullet during the First World War

(B) In spite of his right hand and arm being crippled by a sniper’s bullet during the First World War



(C) Because there had been a sniper’s bullet during the First World War that crippled his right hand and arm

(D) The right hand and arm being crippled by a sniper’s bullet during the First World War

(E) His right hand and arm crippled by a sniper’s bullet during the First World War.

21. Beyond the immediate cash flow crisis that the museum faces, its survival depends on if it can broaden its membership and leave its cramped quarters for a site where it can store and exhibit its more than 12,000 artifacts.

(A) if it can broaden its membership and leave

(B) whether it can broaden its membership and leave

(C) whether or not it has the capability to broaden its membership and can leave

(D) its ability for broadening its membership and leaving

(E) the ability for it to broaden its membership and leave

22. The Emperor Augustus, it appears, commissioned an idealized sculptured portrait, the features of which are so unrealistic as to constitute what one scholar calls an “artificial face.”

(A) so unrealistic as to constitute

(B) so unrealistic they constituted

(C) so unrealistic that they have constituted

(D) unrealistic enough so that they constitute

(E) unrealistic enough so as to constitute

23. A recent national study of the public schools shows that there are now one microcomputer for every thirty-two pupils, four times as many than there were four years ago.

(A) there are now one microcomputer for every thirty-two pupils, four times as many than there were

(B) there is now one microcomputer for every thirty-two pupils, four times as many than there were

(C) there is now one microcomputer for every thirty-two pupils, four times as many as there were

(D) every thirty-two pupils now have one microcomputer, four times as many than there were

(E) every thirty-two pupils now has one microcomputer, four times as many as



24. Since 1986 when the Department of Labor began to allow investment officers’ fees to be based on how the funds they manage perform, several corporations began paying their investment advisers a small basic fee, with a contract promising higher fees if the managers perform well.

(A) investment officers’ fees to be based on how the funds they manage perform, several corporations began

(B) investment officers’ fees to be based on the performance of the funds they manage, several corporations began

(C) that fees of investment officers be based on how the funds they manage perform, several corporations have begun.

(D) fees of investment officers to be based on the performance of the funds they manage, several corporations have begun

(E) that investment officers' fees be based on the performance of the funds they manage, several corporations began

25. Like many self-taught artists, Perle Hessing did not begin to paint until she was well into middle age.

(A) Like

(B) As have

(C) Just as with

(D) Just like

(E) As did

26. Never before had taxpayers confronted so many changes at once as they had in the Tax Reform Act of 1986.

(A) so many changes at once as they had in

(B) at once as many changes as

(C) at once as many changes that there were with

(D) as many changes at once as they confronted in 

(E) so many changes at once that confronted them in

27. It is well known in the supermarket industry that how items are placed on shelves and the frequency of inventory turnovers can be crucial to profits.

(A) the frequency of inventory turnovers can be 

(B) the frequency of inventory turnovers is often 

(C) the frequency with which the inventory turns over is often

(D) how frequently is the inventory turned over are often

(E) how frequently the inventory turns over can be

SENTENCE CORRECTION TEST SECTION 9

30 Minutes　25 Questions
1. The psychologist William James believed that facial expressions not only provide a visible sign of an emotion, actually contributing to the feeling itself.

(A) emotion, actually contributing to the feeling itself

(B) emotion but also actually contributing to the feeling itself 

(C) emotion but also actually contribute to the feeling itself 

(D) emotion; they also actually contribute to the feeling of it

(E) emotion; the feeling itself is also actually contributed to by them

2. Along with the drop in producer prices announced yesterday, the strong retail sales figures released today seem like it is indicative that the economy, although growing slowly, is not nearing a recession.
(A) like it is indicative that 

(B) as if to indicate

(C) to indicate that 

(D) indicative of

(E) like an indication of 

3. The National Transportation Safety Board has recommended the use of fail-safe mechanisms on airliner cargo door latches assuring the doors are properly closed before takeoff and to prevent them from popping open in flight.

(A) assuring the doors are properly closed 

(B) for the assurance of proper closing 

(C) assuring proper closure

(D) to assure closing the doors properly

(E) to assure that the doors are properly closed

4. Iguanas have been an important food source in Latin America since prehistoric times, and it is still prized as a game animal by the campesinos, who typically cook the meat in a heavily spiced stew.

(A) it is still prized as a game animal 

(B) it is still prized as game animals

(C) they are still prized as game animals

(D) they are still prized as being a game animal 

(E) being still prized as a game animal



5. The financial crash of October 1987 demonstrated that the world’s capital markets are integrated more closely than never before and events in one part of the global village may be transmitted to the rest of the village—almost instantaneously.

(A) integrated more closely than never before and 

(B) closely integrated more than ever before so

(C) more closely integrated as never before while 

(D) more closely integrated than ever before and that

(E) more than ever before closely integrated as

6. New theories propose that catastrophic impacts of asteroids and comets may have caused reversals in the Earth’s magnetic field, the onset of ice ages, splitting apart continents 80 million years ago, and great volcanic eruptions.

(A) splitting apart continents 

(B) the splitting apart of continents 

(C) split apart continents

(D) continents split apart

(E) continents that were split apart

7. Wisconsin, Illinois, Florida, and Minnesota have begun to enforce statewide bans prohibiting landfills to accept leaves, brush, and grass clippings.

(A) prohibiting landfills to accept leaves, brush, and grass clippings

(B) prohibiting that landfills accept leaves, brush, and grass clippings.

(C) prohibiting landfills from accepting leaves, brush, and grass clippings

(D) that leaves, brush, and grass clippings cannot be accepted in landfills

(E )that landfills cannot accept leaves, brush, and grass clippings.

8. Even though the direct costs of malpractice disputes amounts to a sum lower than one percent of the $541 billion the nation spent on health care last year, doctors say fear of lawsuits plays major role in health-care inflation.

(A) amounts to a sum lower

(B) amounts to less

(C) amounted to less

(D) amounted to lower

(E) amounted to a lower sum



9. Except for a concert performance that the composer himself staged in 1911, Scott Joplin’s ragtime opera Treemonisha was not produced until 1972, sixty-one years after its completion.

(A) Except for a concert performance that the composer himself staged 

(B) Except for a concert performance with the composer himself staging it

(C) Besides a concert performance being staged by the composer himself

(D) Excepting a concert performance that the composer himself staged

(E) With the exception of a concert performance with the staging done by the composer himself

10. Students in the metropolitan school district lack math skills to such a large degree as to make it difficult to absorb them into a city economy becoming ever more dependent on information-based industries.

(A) lack math skills to such a large degree as to make it difficult to absorb them into a city economy becoming

(B) lack math skills to a large enough degree that they will be difficult to absorb into a city’s economy that becomes

(C) lack of math skills is so large as to be difficult to absorb them into a city’s economy that becomes

(D) are lacking so much in math skills as to be difficult to absorb into a city’s economy becoming

(E) are so lacking in math skills that it will be difficult to absorb them into a city economy becoming

11. The diet of the ordinary Greek in classical times was largely vegetarian—vegetables, fresh cheese, oatmeal, and meal cakes, and meat rarely.

(A) and meat rarely

(B) and meat was rare

(C) with meat as rare

(D) meat a rarity

(D)with meat as a rarity

12. An invetory equal to 90 days sales is as much as even the strongest businesses carry, and then only as a way to anticipate higher prices or ensure against shortages.

(A) as much as even

(B) so much as even

(C) even so much as

(D) even as much that

(E) even so much that



13. The decision by one of the nation’s largest banks to admit to $3 billion in potential losses on foreign loans could mean less lending by commercial banks to developing countries and increasing the pressure on multigovernment lenders to supply the funds.

(A) increasing the pressure

(B) the increasing pressure

(C) increased pressure

(D) the pressure increased

(E) the pressure increasing 

14. Downzoning, zoning that typically results in the reduction of housing density, allows for more open space in areas where little water or services exist.

(A) little water or services exist

(B) little water or services exists

(C) few services and little water exists

(D) there is little water or services available

(E) there are few services and little available water

15. Reporting that one of its many problems had been the recent extended sales slump in women’s apparel, the seven-store retailer said it would start a three month liquidation sale in all of its stores.

(A) its many problems had been the recent

(B) its many problems has been the recently 

(C) its many problems is the recently

(D) their many problems is the recent

(E) their many problems had been the recent

16. Legislation in the Canadian province of Ontario requires of both public and private employers that pay be the same for jobs historically held by women as for jobs requiring comparable skill that are usually held by men.

(A) that pay be the same for jobs historically held by women as for jobs requiring comparable skill that are

(B) that pay for jobs historically held by women should be the same as for a job requiring comparable skills

(C) to pay the same in jobs historically held by women as in jobs of comparable skill that are 

(D) to pay the same regardless of whether a job was historically held by women or is one demanding comparable skills

(E) to pay as much for jobs historically held by women as for a job demanding comparable skills



17. It has been estimated that the annual cost to the United States of illiteracy in lost industrial output and tax revenues is at least $20 billion a year.
(A) the annual cost to the United States of illiteracy in lost industrial output and tax revenues is at least $20 billion a year

(B) the annual cost of illiteracy to the United States is at least $20 billion a year because of lost industrial output and tax revenues

(C) illiteracy costs the United States at least $20 billion a year in lost industrial output and tax revenues

(D) $20 billion a year in lost industrial output and tax revenues is the annual cost to the United States of illiteracy

(E) lost industrial output and tax revenues cost the United States at least $20 billion a year because of illiteracy

18. Egyptians are credited as having pioneered embalming methods as long ago as 2650 B.C.

(A) as having

(B) with having

(C) to have

(D) as the ones who

(E) for being the ones who

19. Domestic automobile manufacturers have invested millions of dollars into research to develop cars more gasoline-efficient even than presently on the road.
(A) into research to develop cars more gasoline-efficient even than presently on the road 

(B) into research for developing even more gasoline-efficient cars on the road than at present

(C) for research for cars to be developed that are more gasoline-efficient even than presently on the road.

(D) in research to develop cars even more gasoline-efficient than those at present on the road

(E) in research for developing cars that are even more gasoline-efficient than presently on the road



20. Visitors to the park have often looked up into the leafy canopy and saw monkeys sleeping on the branches, whose arms and legs hang like socks on a clothesline.

(A) saw monkeys sleeping on the branches, whose arms and legs hang

(B) saw monkeys sleeping on the branches, whose arms and legs were hanging

(C) saw monkeys sleeping on the branches, with arms and legs hanging

(D) seen monkeys sleeping on the branches, with arms and legs hanging

(E) seen monkeys sleeping on the branches, whose arms and legs have hung

21. From the bark of the paper birch tree the Menomini crafted a canoe about twenty feet long and two feet wide, with small ribs and rails of cedar, which could carry four persons or eight hundred pounds of baggage so light that a person could easily portage it around impeding rapids.

(A) baggage so light

(B) baggage being so light 

(C) baggage, yet being so light 

(D) baggage, and so light

(E) baggage yet was so light

22. From the time of its defeat by the Germans in 1940 until its liberation in 1944, France was a bitter and divided country; a kind of civil war raged in the Vichy government between those who wanted to collaborate with the Nazis with those who opposed them.

(A) between those who wanted to collaborate with the Nazis with those who opposed

(B) between those who wanted to collaborate with the Nazis and those who opposed

(C) between those wanting to collaborate with the Nazis with those opposing

(D) among those who wanted to collaborate with the Nazis and those who opposed

(E) among those wanting to collaborate with the Nazis with those opposing



23. Those who come to church with a predisposition to religious belief will be happy in an auditorium or even a storefront, and there is no doubt that religion is sometimes better served by adapted spaces of this kind instead of by some of the buildings actually designed for it.

(A) adapted spaces of this kind instead of by some of the buildings actually designed for it 

(B) adapted spaces like these rather than some of the buildings actually designed for them 

(C) these adapted spaces instead of by some of the buildings actually designed for it

(D) such adapted spaces rather than by some of the buildings actually designed for them

(E) such adapted spaces than by some of the buildings actually designed for it

24. A firm that specializes in the analysis of handwriting claims from a one-page writing sample that it can assess more than three hundred personality traits, including enthusiasm, imagination, and ambition.

(A) from a one-page writing sample that it can assess

(B) from a one-page writing sample it has the ability of assessing

(C) the ability, from a one-page writing sample, of assessing

(D) to be able, from a one-page writing sample, to assess

(E) being able to assess, from a one-page writing sample,

25. The question of whether to divest themselves of stock in companies that do business in South Africa is particularly troublesome for the nation’s 116 private Black colleges because their economic bases are often more fragile than most predominantly White colleges.

(A) than 

(B) than those of

(C) than is so of

(D) compared to 

(E) compared to those of



26. Executives and federal officials say that the use of crack and cocaine is growing rapidly among workers, significantly compounding the effects of drug and alcohol abuse, which already are a cost to business of more than $100 billion a year.

(A) significantly compounding the effects of drug and alcohol abuse, which already are a cost to business of

(B) significantly compounding the effects of drug and alcohol abuse, which already cost business

(C) significantly compounding the effects of drug and alcohol abuse, already with business costs of

(D) significant in compounding the effects of drug and alcohol abuse, and already costing business

(E) significant in compounding the effects of drug and alcohol abuse, and already costs business

27. The Parthenon was a church from 1204 until 1456, when Athens was taken by General Mohammed the Conqueror, the Turkish sultan, who established a mosque in the building and used the Acropolis as a fortress.
(A) who established a mosque in the building and used the Acropolis as

(B) who, establishing a mosque in the building, used the Acropolis like

(C) who, when he had established a mosque in the building, used the Acropolis like

(D) who had established a mosque in the building, using the Acropolis to be

(E) establishing a mosque in the building and using the Acropolis as



SENTENCE CORRECTION TEST SECTION 10

30 Minutes　25 Questions
1. The Baldrick Manufacturing Company has for several years followed a policy aimed at decreasing operating costs and improving the efficiency of its distribution system.

(A) aimed at decreasing operating costs and improving

(B) aimed at the decreasing of operating costs and to improve

(C) aiming at the decreasing of operating costs and improving

(D) the aim of which is the decreasing of operating costs and improving

(E) with the aim to decrease operating costs and to improve

2. The Federalist papers, a strong defense of the United States Constitution and important as a body of work in political science as well, represents the handiwork of three different authors.

(A) and important as a body of work in political science as well, represents

(B) as well as an important body of work in political science, represent

(C) and also a body of work of importance in polit​ical science is representing

(D)an important body of work in political science and has been representative of 

(E) and as political science an important body of work too, represent

3. Although the term “psychopath” is popularly applied to an especially brutal criminal, in psychology it is someone who is apparently incapable of feeling compassion or the pangs of conscience.

(A) it is someone who is

(B) it is a person

(C) they are people who are

(D) it refers to someone who is 

(E) it is in reference to people

4. A representative of the Women’s Bureau of the United States Department of Labor contends that employers who offer benefits which permit that employees can balance home and work responsibilities better, realizing gains in attendance, recruiting, and retention. 



(A) which permit that employees can balance home and work responsibilities better, realizing 

(B) which permit employees balancing home and work responsibilities better will realize

(C)that permit employees to balance the responsibilities of home and work better will realize 

(D) that permit employees a better balance between the responsibilities of home and work, thus realizing

(E) such that employees are permitted a balance between home and work responsibilities, and they will realize

5. Parliament did not accord full refugee benefits to twelve of the recent immigrants because it believed that to do it rewards them for entering the country illegally.
(A) to do it rewards 
(B) doing it rewards
(C) to do this would reward 
(D) doing so would reward
(E) to do it would reward

6. Many policy experts say that shifting a portion of health-benefit costs back to the workers helps to control the employer’s costs, but also helps to limit medical spending by making patients more careful consumers.

(A) helps to control the employer’s costs, but also helps 
(B) helps the control of the employer’s costs, and also
(C) not only helps to control the employer’s costs, but also helps
(D) helps to control not only the employer’s costs, but
(E) not only helps to control the employer’s costs, and also helps

7. The plot of The Bostonians centers on the rivalry between Olive Chancellor, and active feminist, with her charming and cynical cousin, Basil Ransom, when they find themselves drawn to the same radiant young woman whose talent for pubic speaking has won her an ardent following.

(A) rivalry between Olive Chancellor, an active feminist, with her charming and cynical cousin, Basil Ransom

(B) rivals Olive Chancellor, an active feminist, against her charming and cynical cousin, Basil Ransom

(C) rivalry that develops between Olive Chancellor, an active feminist, and Basil Ransom, her charming and cynical cousin
(D) developing rivalry between Olive Chancellor, an active feminist, with Basil Ransom, her charming and cynical cousin
(E) active feminist, Olive Chancellor, and the rivalry with her charming and cynical cousin Basil Ransom



8. Despite protests from some waste-disposal companies, state health officials have ordered the levels of bacteria in seawater at popular beaches to be measured and that the results be published.

(A) the levels of bacteria in seawater at popular beaches to be measured and that the results be

(B) that seawater at popular beaches should be measured for their levels of bacteria, with the results being.

(C) the measure of levels of bacteria in seawater at popular beaches and the results to be 

(D) seawater measured at popular beaches for levels of bacteria, with their results

(E) that the levels of bacteria in seawater at popular beaches be measured and the results.

9. While larger banks can afford to maintain their own data-processing operations, many smaller regional and community banks are finding that the cost associated with upgrading data-processing equipment and with the development and maintenance of new products and technical staff are prohibitive.

(A) cost associated with

(B) costs associated with 

(C) costs arising from

(D) cost of

(E) costs of

10. For almost a hundred years after having its begin​​ning in 1788. England exiled some 160,000 criminals to Australia.

(A) For almost a hundred years after having its beginning in 1788.

(B) Beginning in 1788 for a period of a hundred years.

(C) Beginning a period of almost a hundred years, in 1788

(D) During a hundred years, a period beginning in 1788.

(E) Over a period of a hundred years beginning in 1788.

11. Eating saltwater fish may significantly reduce the risk of heart attacks and also aid for sufferers of rheumatoid arthritis and asthma, according to three research studies published in the New England Journal of Medicine.

(A) significantly reduce the risk of heart attacks and also aid for 

(B) be significant in reducing the risk of heart attacks and aid for



(C) significantly reduce the risk of heart attacks and aid

(D) cause a significant reduction in the risk of heart attacks and aid to

(E) significantly reduce the risk of heart attacks as well as aiding

12. By a vote of 9 to 0, the Supreme Court awarded the Central Intelligence Agency broad discretionary powers enabling it to withhold from the public the identities of its sources of intelligence information.

(A) enabling it to withhold from the public

(B) for it to withhold from the public

(C) for withholding disclosure to the public of 

(D) that enable them to withhold from public disclosure

(E) that they can withhold public disclosure of 

13. As business grows more complex, students majoring in specialized areas like those of finance and marketing have been becoming increasingly successful in the job market.

(A) majoring in specialized areas like those of finance and marketing have been becoming increasingly

(B) who major in such specialized areas as finance and marketing are becoming more and more 

(C) who majored in specialized areas such as those of finance and marketing are being increasingly

(D)  who major in specialized areas like those of finance and marketing have been becoming more and more

(E) having majored in such specialized areas as finance and marketing are being increasingly

14. Inuits of the Bering Sea were in isolation from contact with Europeans longer than Aleuts or Inuits of the North Pacific and northern Alaska.

(A) in isolation from contact with Europeans longer than

(B) isolated from contact with Europeans longer than

(C) in isolation from contact with Europeans longer than were

(D) isolated from contact with Europeans longer than were

(E) in isolation and without contacts with Europeans longer than 



15. Once the economic and social usefulness of the motor car was demonstrated and with its superiority to the horse being proved, much of the early hostility to it in rural regions disappeared.

(A) and with its superiority to the horse being

(B) and its superiority over the horse had been 

(C) and its superiority to the horse 

(D) its superiority over the horse

(E) with its superiority to the horse having been

16. Minnesota is the only one of the contiguous forty-eight states that still has a sizable wolf population, and where this predator remains the archenemy of cattle and sheep.
(A) that still has a sizable wolf population, and where
(B) that still has a sizable wolf population, where 
(C) that still has a sizable population of wolves, and where
(D) where the population of wolves is still sizable;
(E) where there is still a sizable population of wolves and where
17. Pablo Picasso, the late Spanish painter, credited African art with having had a strong influence on his work.

(A) with having had

(B) for its having

(C) to have had

(D) for having 

(E) in that it had

18. Judicial rules in many states require that the identities of all prosecution witnesses are made known to defendants so they can attempt to rebut the testimony, but the Constitution explicitly requires only that the defendant have the opportunity to confront an accuser in court.

(A) that the identities of all prosecution witnesses are made known to defendants so they can attempt to rebut

(B) that the identities of all prosecution witnesses be made known to defendants so that they can attempt to rebut

(C) that the defendants should know the identities of all prosecution witnesses so they can attempt a rebuttal of

(D) the identities of all prosecution witnesses should be made known to defendants so they can attempt rebutting

(E) making known to defendants the identities of all prosecution witnesses so that they can attempt to rebut 


19. Quasars, at billions of light-years from Earth the most distant observable objects in the universe, believed to be the cores of galaxies in an early stage of development.

(A) believed to be

(B) are believed to be

(C) some believe them to be

(D) some believe they are

(E) it is believed that they are
20. The colorization of black-and-white films by computers is defended by those who own the film rights, for the process can mean increased revenues for them; many others in the film industry, however, contend that the technique degrades major works of art, which they liken to putting lipstick on a Greek statue.

(A) which they liken to putting lipstick on a Greek statue

(B) which they liken to a Greek statue with lipstick put on it

(C) which they liken to lipstick put on a Greek statue

(D) likening it to a Greek statue with lipstick put on it

(E) likening it to putting lipstick on a Greek statue
21. In reference to the current hostility toward smoking, smokers frequently expressed anxiety that their prospects for being hired and promoted are being stunted by their habit.

(A) In reference to the current hostility toward smoking, smokers frequently expressed anxiety that

(B) Referring to the current hostility toward smoking, smokers frequently expressed anxiety about

(C) when referring to the current hostility toward smoking, smokers frequently express anxiety about

(D) With reference to the current hostility toward smoking, smokers frequently expressed anxiety about

(E) Referring to the current hostility toward smoking, smokers frequently express anxiety that



22. Ms. Chambers is among the forecasters who predict that the rate of addition to arable lands will drop while those of loss rise.

(A) those of loss rise

(B) it rises for loss

(C) those of losses rise

(D) the rate of loss rises

(E) there are rises for the rate of loss
23. Unlike auto insurance, the frequency of claims does not affect the premiums for personal property coverage, but if the insurance company is able to prove excessive loss due to owner negligence, it may decline to renew the policy.

(A) Unlike auto insurance, the frequency of claims does not affect the premiums for personal property coverage

(B) Unlike with auto insurance, the frequency of claims do not affect the premiums for personal property coverage 

(C) Unlike the frequency of claims for auto insurance, the premiums for personal property coverage are not affected by the frequency of claims

(D) Unlike the premiums for auto insurance, the premiums for personal property coverage are not affected by the frequency of claims

(E) Unlike with the premiums for auto insurance, the premiums for personal property coverage is not affected by the frequency of claims
24. Recently implemented “shift-work equations” based on studies of the human sleep cycle have reduced sickness, sleeping on the job, fatigue among shift workers, and have raised production efficiency in various industries.

(A) fatigue among shift workers, and have raised 

(B) fatigue among shift workers, and raised

(C) and fatigue among shift workers while raising 

(D) lowered fatigue among shift workers, and raised 

(E) and fatigue among shift workers was lowered while raising


25. The physical structure of the human eye enables it to sense light of wavelengths up to 0.0005 millimeters; infrared radiation, however, is invisible because its wavelength—0.1 millimeters—is too long to be registered by the eye.

(A) infrared radiation, however, is invisible because its wavelength—0.1 millimeters—is too long to be registered by the eye

(B) however, the wavelength of infrared radiation—0.1 millimeters—is too long to be registered by the eye making it invisible

(C) infrared radiation, however, is invisible because its wavelength—0.1 millimeters—is too long for the eye to register it

(D) however, because the wavelength of infrared radiation is 0.1 millimeters, it is too long for the eye to register and thus invisible

(E) however, infrared radiation has a wavelength of 0.1 millimeters that is too long for the eye to register, thus making it invisible

26. Spanning more than fifty years, Friedrich Muller began his career in an unpromising apprenticeship as a Sanskrit scholar and culminated in virtually every honor that European governments and learned societies could bestow.

(A) Muller began his career in an unpromising apprenticeship as

(B) Muller’s career began in an unpromising apprenticeship as

(C) Muller’s career began with the unpromising apprenticeship of being

(D) Muller had begun his career with the unpromising apprenticeship of being

(E) the career of Muller has begun with an unpromising apprenticeship of 

27. the Coast guard is conducting tests to see whether pigeons can be trained to help find survivors of wrecks at sea.

(A) to see whether pigeons can be trained to help find

(B) to see whether pigeons can be trained as help to find

(C) to see if pigeons can be trained for helping to find

(D) that see if pigeons are able to be trained in helping to find.

(E) that see whether pigeons are able to be trained for help in finding
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